XL400_Rev12_detached.rvt

. \\
CONXTECH
Simply Faster
CA Contractor's License No. 8656525
6600 Koll Center Parkway
Suite 210
Pleasanton, CA 94566
T510.264.9111
F 510.264.1181
www.ConXtech.com
( )
\ PROFESSIONAL SEAL: )
( )
REVISIONS:
NO. DATE: DESCRIPTION:
1 02/20/2019 SDR 037
2 04/02/2019 SDR 038
3 07/31/2019 Drafting Cleanup
4 08/08/2019 SDR 039, 041 & 042
5 12/19/2019 SDR 017 & 040
6 04/16/2020 SDR 007 & 046
7 07/06/2020 SDR 047
8 10/23/2020 SDR 048
9 05/04/2021 SDR 049
10 05/01/2022 SDR 051
11 02/17/2023 SDR 043
12 01/03/2025 SDR 055
\ J
( )
L
2
-
0
XL 400 SYSTEM S
o
i |
J |2
[a) <
2| o
— =
Q| o
. J
DRAWING REVISION SCHEDULE r )
Rev1 Rev2 Rev3 Rev4 Revb Rev6 Rev7 Rev8 Rev9 Rev10 Rev11 Rev12
Sheet Number Sheet Name 02.20.2019 | 04.02.2019 | 07.31.2019 | 08.05.2019 | 12.19.2019 | 04.16.2020 | 07.06.2020 | 10.23.2020 | 05.04.2021 | 05.01.2022 | 02.17.2023 | 01.03.2025
SX-0.01 COVER SHEET X X X X
SX0-62— KEAGGM-DESIGN-CRHERIAFOAB-MAP— DELETED
SK-0-03— KHAO0-ABBREVIAHONS & NOMENCEATURES— DELETED X X X -
SX-0-04— XE400-GENERAENOTES&SPECGIHGATHONS — DELETED X X LLI
SX-5.05— XE400 L MATERIAL- SRECIFIGATIONS— DELETED X L
SX-0.09 XL400™ NOTES AND NOMENCLATURE X X X I
SX-0.10 XL400™ COLLAR DETAILS X X X X (7p)
SX-3.10 XL400 MOMENT COLUMN DETAILS X X X X X X m
SX-3.20 XL400 GRAVITY COLUMN DETAILS X X L
SX-3.30 XL400 BASE PLATE & FOUNDATION DETAILS X X >
SX-3.31 XL400 BASE PLATE & FOUNDATION DETAILS X O
SK332— KEHAOO-OSHPDBASEPEATEX FOUNBATHONDETAILS—  DELETED X X X X
SX-4.10 XL400 MOMENT BEAM DETAILS X X X X X X 0
SX-4.20 XL400 DROP-IN GRAVITY BEAM DETAILS X X X X X
SX-4.21 XL400 CONVENTIONAL GRAVITY BEAM DETAILS X X
SX-4.22 XL400 COLLAR CONNECTION DETAILS X X X X N
SX-4.23 XL400 CANTILEVER DETAILS X “EIJ
SX-5.10 XL400 DECKING DETAILS X X X \_ J
SX-9.10 ROOF SCREEN ELEVATIONS & DETAILS X e N
SX-9.20 ELEVATOR SUPPORT PLAN, ELEVATION & DETAILS X ISSUE DATE: 05/01/2022
PROJECT NO.: -
SCALE:
. J
(SHEET NO. h
PRINTED ON:
\1/6/2025 2:14:36 PM )/




XL400_Rev12_detached.rvt

N \\

GENERAL NOTES

USE OF THE CONXL SYSTEM IS SUBJECT TO THE APPROVAL OF THE GOVERNING BUILDING CODE AND THE AUTHORITY HAVING

JURISDICTION.

2. THE CONXL MOMENT CONNECTION IS PREQUALIFIED IN AISC 358 CHAPTER 10 FOR USE IN CONNECTING BEAMS AND COLUMNS
IN SPECIAL MOMENT FRAME (SMF) AND INTERMEDIATE MOMENT FRAME (IMF) SYSTEMS. REFER TO AISC 358 CHAPTER 10 FOR
ADDITIONAL DESIGN, FABRICATION, AND ERECTION REQUIREMENTS.

3. ALLSTRUCTURAL STEEL IN THE CONXL SYSTEM SHALL CONFORM TO THE FOLLOWING MATERIAL REQUIREMENTS UNLESS
OTHERWISE NOTED IN THE CONTRACT DOCUMENTS. REFER TO SHEET SX-0.10 FOR COLLAR COMPONENT MATERIAL AND
COATING REQUIREMENTS
WIDE-FLANGE AND WT SHAPES FY=50 KS|
PLATES ASTMA36 ORA572 GR50  FY=36 KSI (A36), 50 KSI (A572 GR. 50)
ANGLES, CHANNELS, MISC CHANNELS ASTMA36 ORA572 GR50  FY=36 KSI (A36), 50 KSI (A572 GR. 50)
GRAVITY HSS COLUMNS ASTM A500 GR. B OR C FY=46 KSI (GR. B), 50 KSI (GR. C)
CONX SQUARE HSS MOMENT COLUMNS ASTM A500 GR. C FY=50 KSI (SEE NOTE 4)

CONX BUILT-UP BOX MOMENT COLUMNS ASTMA572GR.50 0R55  FY=50KSI (GR. 50, 55 KSI (GR. 55)
(SEE NOTE 4)

4. WHEN THE CONXL COLLAR IS USED AS THE MOMENT CONNECTION IN AN SMF SYSTEM, THE CONTRACTOR'S QC PLAN SHALL
INCLUDE A REQUIREMENT THAT HSS AND BOX COLUMNS THAT ARE PART OF THE SFRS SHALL HAVE A MINIMUM COUPON
YIELD STRESS (Fa) INDICATED ON THE MILL CERTIFICATION. FOR COUPON YIELD STRESS (Fa) REQUIREMENTS GREATER THAN
THE SPECIFIED MINIMUM YIELD STRESS OF THE MATERIAL, REFER TO THE COLUMN LAYOUT PLAN OR COLUMN SCHEDULE.

5. CONXL COLLAR BOLTS ARE PRETENSIONED TO THE REQUIREMENTS OF ASTM F3125 GRADE A490. REFER TO SHEET SX-0.10
FOR ADDITIONAL MATERIAL AND COATING REQUIREMENTS FOR THE COLLAR BOLTS.

6. MACHINED BOLTS SHALL BE ASTM A307 OR BETTER .

7. HIGH-STRENGTH BOLTS SHALL BE ASTM F3125 GR. A325 OR BETTER INSTALLED SNUG-TIGHT UNLESS NOTED OTHERWISE;
REFER TO GENERAL STRUCTURAL NOTES FOR ADDITIONAL REQUIREMENTS.

8. CONTRACTOR'S OPTION TO USE TWIST-OFF TYPE BOLTS FOR HIGH-STRENGTH BOLTS IN PRETENSIONED AND SLIP-CRITICAL
APPLICATIONS.

9. REDUCED BEM SECTION (RBS) FLANGE CUTS SHALL BE FABRICATED IN ACCORDANCE WITH AISC 358 SECTION 5.7.

10.  REFER TO SHEET SX-4.10 FOR STABILITY BRACING DETAILS FOR BEAMS THAT ARE PART OF THE SFRS.

11, HSS AND BOX COLUMNS THAT ARE PART OF THE SFRS IN SMF AND IMF SYSTEMS SHALL BE COMPLETELY FILLED WITH
STRUCTURAL CONCRETE. REFER TO GENERAL STRUCTURAL NOTES FOR CONCRETE MATERIAL REQUIREMENTS.

12, GROUT FOR COLUMN BASE PLATES SHALL BE PLACED AND ITS COMPRESSIVE STRENGTH SHALL REACH ATLEAST 3,000 PSI
PRIOR TO PLACING CONCRETE FOR ELEVATED FLOORS.

BWA BEAM WEB ANGLE

BWP BEAM WEB PLATE

CWP COLUMN WEB PLATE

DTI DIRECT TENSION INDICATOR

Fa COUPON YIELD STRESS

GSN GENERAL STRUCTURAL NOTES
HRC HARDNESS ROCKWELL C

IMF INTERMEDIATE MOMENT FRAME
RBS REDUCED BEAM SECTION

SFRS SEISMIC FORCE RESISTING SYSTEM
SHCS SOCKET-HEAD CAP SCREW

SMF SPECIAL MOMENT FRAME

COLUMN NOMENCLATURE NS
S\
CONXTECH
Simply Faster
CG| = HSS GRAVITY COLUMN
CM| =  HSS16x16 CONXL MOMENT COLUMN T el ot e
Pleasanton, CA 94566
CB| =  BOX16x16 CONXL MOMENT COLUMN ro0264s1]
www.ConXtech.com
( A
- C =COLUMN (MEMBER TYPE)
BEAM NOMENCLATURE e
( REVISIONS: )
NO. DATE: DESCRIPTION:
BMM - PROFILE e
BMG - PROFILE
BGM - PROFILE
BMC - PROFILE
BCM - PROFILE
\_ J
BGG - PROFILE . \
BGC - PROFILE
BCG - PROFILE
BEAM PROFILE:
w21
W24
W27
W30
L
=
<
Z
=
LCONNECTION\ CONNECTION TYPE LEGEND 8
(TQ(IZEHTF)AR "NPITC]=  CANTILEVER BEAM TO BEAM OR BEAM TO COLUMN -
MOMENT CONN. (FULLY RESTRATINED) O
CONNECTION —
TYPE NEAR G| = GRAVITY BEAM TO BEAM OR BEAM TO COLUMN m
END (LEFT) R CONN. (PINNED) (a B
M| = CONXL BEAM TO COLUMN MOMENT CONN.
(FULLY RESTRAINED)
N B=BEAM ~euser1vre)
g |
-
[a) <
2| &
CCA400 COLLAR CORNER ASSEMBLY 5 5
g | 3
CCT400  coLarcornerTop > ——
CCM4OO COLLAR CORNER MIDDLE
CCB400 COLLAR CORNER BOTTOM o
Z L
-
i 2
-
CFA400 COLLAR FLANGE ASSEMBLY % (;)
CFT400  couarrianceTop = u
CWX4OO COLLAR WEB EXTENSION 8 g
C F B4 OO COLLAR FLANGE BOTTOM EI
E
\E J
( )
ISSUE DATE: 02/03/23
PROPRIETARY INFORMATION NOTICE
Structures, details, methodologies, concepts of ConXtech (ConX®) connections illustrated and described in this document are covered by various forms of intellectual PROJECTNO.:-
property protections considered by ConXtech to be of great value. These protections include, but are not limited to, copyrights, and the following U.S. and Foreign
Patents which variously cover ConXtech's ConX® structures and methodologies: Covered by U.S. P.N. 6,837,016, 7,021,020, 7,051,917 & 7,127,863; Australia P.N. SCALE:  As indicated
2001288615 & P.N. 2004319371; Canada P.N. 2,458,706; China P.N. ZL 01 8 23730.4 & ZL 2004 8 0042862.5; Japan P.N. 4165648 & 4427080; Mexico P.N. 262499 & 275284; \_ )
Hong .Kong P.N. 1102268; Canada P'N.' 2,564,195. Other U.S. & Foreign Patents Pending. You may contact ConXtech at info@conxtech.com or Tel. 510-264-9111. - N
Copyright © 2012 ConXtech, Inc. All rights reserved. SHEET NO.
SX-0.09
PRINTED ON:
) \1/6/2025 2:14:41 PM




XL400_Rev12_detached.rvt

f( f \\
x019 NS
> 2N\
(16) 1 /4'G H.S. 191" 191" @ COMPONENT MATERIAL SPECIFICATION RECOMMENDED HARDWARE COATING WHEN REQUIRED .
BOLTS AT EACH I N | i . : CONXTECH
SIDE o ) | ( oI g CORNER COLLAR A958/A958M GRADE SC8620, CLASS 80/50 | NONE Simply Faster
_ ‘ _
i a1 COLLAR FLANGE A572 GRADE 50 NONE
BOX OR HSS 16x16 COL. 00) (O Ly SOCKET HEAD CAP SCREW ASTM F3125 A490S (SEE NOTES BELOW) | ZN/AL INORGANIC PROTECTIVE COATING PER ASTM F1136 GRADE 3 O Contractors Hoonso o o028
W/ CONC FILL 23 = Suite 210
~ HEAVY HEX NUTS A563 ZN/AL INORGANIC PROTECTIVE COATING PER ASTM F1136 GRADE 5 Pleasanton, CA 94566
(8)1 3/8"0 HOLES FLAT WASHER F436 ZN/AL INORGANIC PROTECTIVE COATING PER ASTM F1136 GRADE 3 75102649111
F 510.264.1181
. ﬂB\ DTI WASHER F959 NONE www.ConXtech.com
! &0y
E— ——— - - p NOTES: ( \
) '@ @ Ji \ @ @ /N ‘ .
~ I : 1. COLLAR BOLTS SHALL BE PRETENSIONED 1% -in.- (32-mm-) DIAMETER HIGH STRENGTH BOLTS CONFORMING TO ASTM F3125 A490 WITH THREADS EXCLUDED FROM THE SHEAR PLANE. THE
00) ‘ — BOLTS SHALL HAVE A MODIFIED HEAD GEOMETRY CONFORMING WITH ASME B18.3, SOCKET HEAD CAP SCREW, WITH AN INCREASED DIAMETER OF 2-IN. THE MODIFIED GEOMETRY SHALL
A ‘ I EXTEND FROM THE TOP OF THE HEAD, UP TO BUT NOT INCLUDING THE BEARING AREA. THE HEAD SHALL BE MARKED “A490S” IN ACCORDANCE WITH ASTM F3125 SUPPLEMENTARY
] | ~ REQUIREMENT S2.
(8)1 3/8"@ HOLES
XL400 COLLAR FLANGE —
ASSEMBLY, TYP.
\ PROFESSIONAL SEAL: )
NOTES o
1. FOUR MOMENT BEAMS SHOWN; SEE PLANS FOR ACTUAL QUANTITIES =3 ( VSIS, )
| “Z,
1 7, 1'-45/16" ’ NO. DATE: DESCRIPTION:
SCALE: S JOX ] | SCALE:
XL400 COLLAR PLAN = 1" 1 O (DX | X COLLAR COMPONENT MATERIAL REQUIREMENTS 112" = 1 7 omosa  soRow
B i ’\ © o~ //¢,, 1 '-0" 12 01/03/2025 SDR 055
| =<r
T&B FLANGE, > =
114 \_ GRIND AR ©
1/4 SMOOTH —=TT—
S % ‘ g TYP. Il
¢ coL g § '
| 1-31/g" =
54 5 UPPER COLLAR FLANGE (CFT400) 58 LOWER COLLAR FLANGE (CFB400)
‘ T 22 11/2" = 10" 11/2" = 10"
| | E o N J
COLLAR FLANGE | \ > &2 - N
TOP CFT400 =35
o> 2]
S5 d BOX OR HSS 16x16 COL.
WEB EXTENSION OOC = a
CWX400 ‘ = 5 §
(16) 11/4" @ H.S. BOLTS AT | 02
EACH SIDE | 2 = o
COLLAR CORNER | | g & o
TOP CCT400 | -
« < o S
:r‘j \ Q © a %0.10 ——HEAVY HEX NUT
‘ TYP. AT TOP AND
-q ﬁ)— BOTTOM BEAM
COLLAR CORNER . FLANGE \ — DTl
MIDDLE Pt ~— COLLAR FLANGE -
= CCM400 — |
L o e ooran j\ 516, TOP CFT400 WASHER
, 5116] 18
Bl 3 5 o CJP | 5]
: DCW 5/16
S IR . MID-DEPTH I R MOMENT BEAM —11/4"@H.S. BOLT L
7 0 OF BEAM p—
W MOMENT BEAM SEE / | | \F’,\(A'\’l'\IOMENT BEAM SEE . <
P R " 3/16" GAP B/W CFT & ~ Z
— COLLAR CORNER — WEB EXTENSION
| | o MOMENT BEAM FLANGE 0 —
COLLAR FLANGE BOTTOM | ‘ | BOTTOM CCBA400 WX400 T
CFB400 |
o T 61 BOTH SIDES 5
HSS OR BOX 1616 | | OF WEB AT
COL. \ \ _,
5/16 BEAM o
9/16" FIXTURE LOCATING FLANGE
HOLE Y
ELEVATION o
INSTALL CLEARANCE FOR COLLAR CONNECTION
B A e 5C BEAM FLANGE TO COLLAR CONNECTION 5D COLLAR FLANGE ASSEMBLY (CFA400)
W18 26" 3"=1-Q" 11/2" =1'-0"
W21 2'-9"
W24 3'-0"
W27 3-3"
W30 3'-6"
NOTE:
(1) THE COLLAR WEB EXTENSION PLATE MAY BE OMITTED AT SIDES WHERE NO BEAM IS CONNECTED TO THE COLUMN. .
(2) THE GROOVE WELD MACHINING PREPARATION ON THE CFT & CFB IS NOT REQUIRED WHEN NO MOMENT BEAM IS % »
CONNECTED. & =
(3) NO COLLAR CORNER MIDDLE PRESENT WHEN MOMENT BEAM IS A W18. 8 |<£
(4) THE FIXTURE LOCATING HOLE IS ON THE PROJECT SOUTH SIDE OF THE COLUMN :: 2
Q| &
S| 3
WEB EXTENSION - =1t
CWX400 s ~N
3
SCALE: SCALE:
XL400 COLLAR ELEVATION . 1 1 XL400 COLLAR FLANGE ASSEMBLY (CFA400) 112" = — COLLAR CORNER —
1"=1-0 10" MIDDLE CCM400 <
-
Ll
3/4" RETURN . FORGED PART (AS FORGED) Q
T&B TYP. \ GRID 67/8'
|
3/8 o 7 —— COLLAR CORNER 14
| T | COLLAR CORNER & - BOTTOM CCB400 5
. | | TOP CCT400 ,. CAST PART : : COLLAR FLANGE
RS | | | 3/4" RETURN 8 = BOTTOM CFB400 ~
T | | COLLAR CORNER TEBTYP. g5 - = O
5 D q MIDDLE CCM400 \ / O
< )@ ®( 15/16" ] ) e,\\%
9 COLLAR CORNER R 23/16 %)&\ =
. 1
.,L BOTTOM CCB400 = @ G OF BOLTS .
- 5/16 /0\ 2 68 v 611/16" _ o
4 X-0.1 &
< 1 t 0 pal 8 Par 3
SEAL WELD ENTIRE g 70 s -
PERIMETER OF COLLAR /Ti i 0 3 ﬂ i >
CORNER JOINTS — 5116 /0. 2 8 3 o =
BETWEEN STRUCTURAL ?@ @@ 70 N " o N g
WELDS 3 - 4 )
o)( TYP. ¢ OF BOLT a % S ISSUE DATE: 05/01/2022
/ N
4 | | 5/16 /0\ 1 278" 5 13/16" %Q)\
< | | 70 i
= | | R TYP. (AS CAST) PROJECT NO.: -
| | | T BOX OR HSS 16x16 COL '\DALQAXE%?I{AOE'LSS I\gA\NRSYS\./XIg\TVLAPER'
' SCALE:  As indicated
: COLLAR CORNER N J
6 CONXL MOMENT COLLAR SECTION i L TOP CCT400 6B SECTION p g
1|| = 11_0u 1 ']/2“ PLAN I 3|| = 11_0u SHEET NO.
0
‘@ S$X-0.10
SCALE: SCALE: _
XL400 COLLAR CORNER ASSEMBLY (CCA400) TO COLUMN CONNECTION 112" = XL400-COLLAR EXPLODED ISOMETRIC 112" = 3 T/F;;SJZESD;T_-L‘ o
Q 1|'0“ 1|_0|| \_ . . )/




XL400_Rev12_detached.rvt

7

BOX16X16

BOX16X16

=

A

SEE DETAIL A & B WHEN
COLUMN WALL
THICKNESS OR PROFILE
VARY

HSS16X16

TACK

Q DETAIL

/ BOX16X16 COLUMN
I

(4) BACKING BARS 3/8"x1" FOR
/ SPLICED BOX COLUMN

CJP

i

I DCW

BOX16X16 COLUMN
I /

QUAL WALL THICKNESS

WELD

%\ BACKING PLATE

7.4

RING. SE

BOX16X16 W
NOTE: SHOP WELD TYPICAL. CONTRACTOR'S OPTION TO
@ DETAIL WELD IN FIELD.
SCALE:
BOX COLUMN SPLICE 1 H

5

@ DETAIL

SEE DETAIL A WHEN

COLUMN WALL
THICKNESS VARY

= ___

/ [cM]Hss16x16 COLUMN

-

1" THICK BACKING PLATE FOR
SPLICED HSS COL SEE DETA

L

D e
Zﬁ L —

DCW

| \
[cM]HSS16X16 COLUMN

EQUAL WALL THICKNESS

&3

I
= I
zs 9
(@) .
=92 ‘Qé 4% |
Z D
ESI8 D I I
a2o<
|l |
Se e | |
52y I I
2 < | | ROOF FLOOR
I
C;T.O COLUMN I I g FF.
> 0 <
TOS !;
] ) © []
| |
| |
1 1
_ _ _ ,I |, _ _ _
| I |
J ) © L
T 0
[ U\l o
<

DENOTES XL400 MOMENT CONN. ¥
SEE BEAM NOMENCLATURE ON SHEET
SX-0.09 FOR MORE INFORMATION

FIFTH FLOOR

NI

@,

S\

CONXTECH’

Simply Faster

CA Contractor’s License No. 855525
6600 Koll Center Parkway

Suite 210

Pleasanton, CA 94566

T510.264.9111
F 510.264.1181
www.ConXtech.com

N

9 PROFESSIONAL SEAL: )

-
REVISIONS:

RIES

ao
sarleiar

X-3.10'8X-3.1

FF.
%

S.AD.

FOURTH FLOOR

NO. DATE: DESCRIPTION:

4 08/08/2019 SDR 039, 041 & 042
8 10/23/2020 SDR 048
1" 02/17/2023 SDR 043

\_

PROJECT NAME

PROJECT ADDRESS:-
PLAN SET STATUS:

-
g

XL400 MOMENT COLUMN
DETAILS

TITLE:

G

\_

-
ISSUE DATE: 05/01/2022

PROJECT NO.: -

q 105, = FF.
%

h o \QI [

NOTE: SHOP WELD TYPICAL. CONTRACTOR'S OPTION TO I I
WELD IN FIELD. - - - . - - - -

| |
| I

J N © L

SCALE:

HSS COLUMN SPLICE e 1 6 —

- Rl T 5
| | <
| |
| | CM
| |/_ XL400 HSS16X16
| . | MOMENT COLUMN
I I
| |
| |
| |
| |
| |
I I THIRD FLOOR
| I &4

‘ 0 T.OS. % FF.
%
7 I ) \Ql r
I
| |
- - - |l I - - -
| |
| |
| ([de==ad]| |.
L o —
| | ;
L <
| |
| |
| |
| |
I I
| I |
| |
N | |
X310 1yp AT BOX | I |
COLUMN I |
| I | SECOND FLOOR
| | ot
0 T.0S. 2 F.F.
%
A I ) \Ql [
| |
- _ _ |l | 1| _ _ _
| |
| |
IRlco=i=cs[il :
— 1]
34, PIP _I I I
_ ™
m 116" MAX. | | w/ W X-3.3
5 N
= i
J | | | | FIRST FLOOR
‘. ‘ | I ‘
o ¥ 0 ) nI
] B 12
7 3 I | I
i S/ | | |
2B BOX PLATE TYP. (4 TOTAL) 14" ‘ | ‘
DETAIL | | |
@ 3" = 1'_0" I ‘ I I
| |
| I ‘ |
| |
‘ I ‘
I F’I“'\ rI'1 F’I“'\ rI'1 I
| Ot |
' I '
_ | )
SCALE: SCALE:
XL400 BOX COLUMN FABRICATION o | 8 |CMMOMENT COLUMN ELEVATION 0

SCALE: As indicated
\§

g

(SHEET NO.

SX-3.10

PRINTED ON:

\1 16/2025 2:14:50 PM




XL400_Rev12_detached.rvt

N

-
— HSS POST m
X-3.20 G ) SUPPORTING COLUMN 3/4"@ A325-N FIELD BOLT OF COLUMN N
W* ] ” WELD AT EA. (SEE BOLT SCHEDULE FOR O
2 . R = COLUMN WEB PLATE | MIN, NUMBER OF BOLTS, l \
|133())/|1.$ gCBI-CI)ELI-DrUI-Il.CI;LFEO(FSQ?/IEIN. 777777 " g/i — 1/4‘ ;Y(”\;\l/_'Eﬁg §|TZUER|H oF A PERLEG 172 GAP 3/8" THICK COLUMN WEB PLATE, TYP. v — ®
NUMBER OF BOLTS, "A") - : 2x WELD SIZE LIEU OF BOLTING il | CONXTECH
./ [ ‘ 27)4(_\ I - g ; ; tw RETURN ; I - ; / fa) \ Simply Faster
14B S I . ) | | :
g oeam X320 T | < } } \ | | it | | @ : [
® ) I 4 R I S w o
/ATND POS]T gf i 7 :‘»7 D 4 e é % ‘ ‘ ‘ } |E j } ‘ i i H | H CA Contractor’s License No. 855525
® o [ ‘ ‘ @ ‘ ‘ @ H H 6600 Koll Center qukway
o | e G OF ERECTION BOLT 1« 7* T - PO T | | Q } ~dll } @ (60 I Plasanton, CA 64560
- / \ e 77 - = | | [ @ | m @ 5 W 5 _ I I COLUMN EXTENSION ABOVE .
S I RS | | - i alt | = 2| 3 Iy T.0S. @ ROOF, WHERE F 510,266,116
. ‘ ‘ @ ‘ ‘ ‘ ‘ @ E é H | H OCCURS. www.ConXtech.com
Z NOTE: | | 1 ]| Iy B z &
N, E CONNECTION TO TOP FLANGE I @ 34DARN GRAVITY | | o ik i o = < [ I
u 3 SHOWN. CONNECTION TO 11411172 BOLT TYP, COLUMN | | QJ | | L@ <1 Ty ( N
SUPPORTED BEAM G | 33/4" < BOTTOM FLANGE SIMILAR. TYP. SNUG TIGHT | | | | ' | ' . 2
| | | \ S ROOF .
m ANGLE TO FLANGE, | | | |
: \ \
1. FORBOLT SCHEDULE SEE TABLE 3/SX-3.20 o | | W BEAM .— | | i i
DECK | | | | \ | | 3/4"@ A325-N ERECTION BOLTS . .
| | | BEARING | | NOT USED, TYP. HSS COLUMNCG—T| | z ﬁ
R | | I N | | 2 —
—=— | | [ F=—=— COLUMN WEB PLATE EA. SIDE OF : : _
[ ] } SUPPORTED BEAM il  PROFESSIONAL SEAL:
— 2 1 NOTE: NOTES: a
SHIM AS NECESSARY ) g \(f g f FOR NOTES NOT SHOWN SEE DETAILS 5/- 1) FOR COLUMN WEB PLATE DEMENSIONS AND BOLT SCHEDULE SEE DETAILS 7/SX-3.20 & 3/SX-3.20 CWP-, GRAVITY COLUMN 3 ( REVISIONS: )
2) FOR GRAVITY BEAM BOTTOM FLANGE COPE DIMENSIONS SEE DETAIL 17/5X-3.20 PLATES, SEE GRAVITY COLUMN '
VP 3/16‘ SCHED. FOR NUMBER OF BEAM
' ; ) CONNECTIONS PER FLOOR. . .
SCALE: 316 = ALTERNATE WELDED BEAM TO GRAVITY COLUMN SCALE: : NO.  DATE.  DESCRPTION
GRAVITY BEAM COPED BOTTOM FLANGE = (17 - e | O | BEAM TO GRAVITY COLUMN DETAIL e | B : owme s
e Py i CONNECTION =1- 1o TYP. AT TYP. AT SKEWED T o SR
3/8" STIFFENER R EACH = SPLICE WHERE OCCURS BEAM TO BEAM TO 9 05/04/2021 SDR 049
2 IoE AL T 2 SEE 1518 ("5 \GRAVITY/ 16 GRAVITY N
OF HSS POST 2 WW W
N =
D S % N . 2ND, 3RD, 4TH, 5TH FLOOR a
i U 3/4"@ A325-N FIELD BOLT ﬁD ¢ OF COLUMN F , TOSTEL g
coL ] - ‘ 0
‘CL 1/4" ANGLE, SIZE HORIZONTAL LEG (SEE BOLT SCEDULE FOR MIN. S 6" RETURN 185, ‘ 2
FOR 2" MIN. DECK BEARING, TYP. y NUMBER OF BOLTS, "A", PER LEG) e | . 38" RETURN 188 | <
B ﬁgg\i LENGTH TO MATCH PLATE | >\ , \ - ‘ ‘ 5/16 WEB PLATE 4 INCOMING BEAM,
UPPER HSS GRAVITY COL. . ' ‘ ] \ | | | SEE PLAN FOR L y
1 SECTION ” o ‘ N . w
| | @ ZD ' ' .
SPLICE PLATE, CENTERED ON N 1A o = | i @M i . i _ % | zb | .
LOWER COLUMN; } | } W I < @ 1 > © W = | 2
WIDTH = HSS WIDTH + 11/2" | | = L %
\ | | « T | | \ S ‘ - N GRAVITY COLUMNCG
T T o | = S, I I ) - SEE SCHED,, TYP.
| | HSS POST i ‘ i M T '
. L} | } . K SUPPORTED W8 OR W10 BEA i | i (1) 3/8" THICK COLUMN WEB PLATE, TYP ‘ ‘ ‘ %
: \ 0
| | | ‘ |
| | R \ | !\ | Q/ | %\ GRAVITY COLUMNCG — SLAB, SEE PLAN
b W BEAM . ’ ‘ /
A | TOP FLG. K N L MOTROR_ g
LOWER HSS GRAVITY COL. } ‘ } E L — c COLUMN WEB PLATE, TYP. ‘
| ANGLE SUPPORTING —/ NOTES
PERPENDICULAR
DECK BEYOND il T+ - PLATE THICKNESS TO BE 1. FORNOTES NOT SHOWN SEE 5/SX-3.20
T* - PLATE THICKNESS TO BE DETERMINED BY EOR. TOP FLANGE DETERMINED BY EOR. NOTES:
. W* - WELD SIZE TO BE 1) BEAMS NOT SHOWN FOR CLARITY
W7 WELD SIZETO BE DETERMINED BY EOR 14B ?_EPO-”ON DETERMINED BY EOR. 2) 4 BEAM TO COLUMN CONNECTION SHOWN. SEE PLANS FOR ACTUAL NUMBER OF CONNECTIONS ——} ===~
. LLl
GRAVITY COLUMN SPLICE FOR HSS OF DIFFERING SCALE: SCALE: SCALE: SCALE: SCALE: =
112" = 1 8 GRAVITY POST TO BEAM CONNECTION S 1 4 W8 AND W10 BEAM TO GRAVITY COLUMN DETAIL 112" = 1 O SECTION BEAM TO GRAVITY COLUMN S 6 CG GRAVITY COLUMN ELEVATION o 2 <
OUTER DIMENSIONS 1!_0“ 3 = 1 '0 1'-0" 3 = 1 .0 3/4 = 1 _0
2
-
r COLUMN WEB PLATE (CWP) DIMENSIONS O
¢ OF COLUMN " - o L
G cot 5/16 ‘ INCOMING L' CLIP LENGTH NUMBER OF BOLT SPACING T.0.8. TO EDGE
‘ | 21/2' TYP. b AT SOLUMN 212 112 BEAM (N) BOLTS (IN) OF CLIP (IN) 8
] 5/16‘ : we* 413/16* 2 25/16* 13/4*
| s
| % | UPPER HSS GRAVITY COL. ] } - 9 W10* 4 13/116* 2 2 5/16* 13/4* 14
} | } L & w12 718 3 25/16 1314 (a
| | | | (( | % » W14 9716 4 25/16 13/4
| | | HSS|CG | } | } (W)* i _ | .\ W16 113/4 5 25/16 13/4
m | | = L . w18 141116 6 25/16 13/4
| | | | = N 13/16"@ BOLT HOLES
$X-3.20 C | T 3 | ] B . 2 @ (SEE BOLT SCHEDULE FOR w21 141116 6 25016 1314
| | BASE P 1"xREQD } } S | ot '\2”;‘ NUMBER FO BOLTS, W24 16 3/8 7 25/16 13/4
1/4‘ | | GR 50 W/ (4) 3/4"@ H.S. RODS F1554 _
| | CRADE 36 } | } | ‘ . : @ w27 16 3/8 7 25/16 1304
W30 16 3/8 7 25/16 13/4
NON-SHRINK GROUT } } SLATE WASHER | | QZ | % CG| GRAVITY COLUMN, SEE PLAN 53 B 1116 ; 2516 —
(BY OTHERS) | | 21/2"%2 1/2'x3/8", TYP. o f @
\ | | <0G | | W36, W40, W44 18 11/16 8 25/16 13/4
E . ° ) 0'-0" LOWER HSS GRAVITY cOL. —— |l ‘ | ‘ COLUMN WEB PLATE, TYP.
| | ‘ ‘ @ NOTES
4l | n LEVELING NUT WITH | , % %)
=M P P WASHER, TYP. 1. FOR W8 AND W10 INCOMING BEAMS IN A BEAM TO COLUMN GRAVITY CONNECTION, USE DETAIL 10/SX-3.20. : E
5 i TR, - i @ 2. IN CONDITIONS WHERE k REGION OF SUPPORTING BEAM IS ENCROACHED BY THE CWPS, ADJUST "D" VALUE SO CWPS 2 o
g g ’ <0 a o (W)* - EFFECTIVE WELD THROAT TO BE DETERMINED BY EOR. NOTES: % ARE CLEAR OF THIS REGION. 5 m
2= , 1m1 4 = . 5 1) BEAMS NOT SHOWN FOR CLARITY w | 2
g = — 4 s . M b =—= = 2) 4 BEAM TO COLUMN CONNECTION SHOWN. SEE PLANS FOR ACTUAL NUMBER OF CONNECTIONS o <
= . L v NOTE: - i R
s a4y | <’ FOR COLUMN WEB PLATE DIMENSIONS AND BOLT SCHEDULE SEE DETAIL 3/SX-3.20 - N
2
SCALE: GRAVITY COLUMN SPLICE FOR HSS OF SIMILAR SCALE: SCALE: SCALE: SCALE:
GRAVITY COLUMN BASE CONNECTION e 119 ‘st |4 B [SECTION W8 AND W10 BEAM TO GRAVITY COLUMN % (44 [ GRAVITY COLUMN WEB PLATE (CWP) A& | 7 |BEAMTO COLUMN CONNECTION BOLT SCHEDULE 5% | 3 =
1"=1-0 OUTER DIMENSIONS 10" 3"=1-0 3"=1-0 g =)
—
G OF COLUMN ” 5/16 0790 8
AP Y<11/2 (7))
112"GAP” 381 THICK COLUMN WEB PLATE, TYP. ¢ OF COLUMN 174 ¢ OF COLUMN 7116 14.7°< § <22.5°: ¢ OF COLUMN 5/16‘ 30° < © < 45° > _
| | 1/4 31/B<Y<5 1,4‘ 6 15/16 <Y < 12 - =
| [/ a ALTERNATE BEAM ALTERNATE BEAM o <
| P W.P. (SEE NOTE 4) ‘ 358 7.2°<0<14.7°; W.P. (SEE NOTE 4) ‘ 12 22.5° < 0 < 30° ‘ > -
| | | | b | & 1/4 112<Y<31/8 1/4 5<Y<615/16 < LW
R
| e — B - ¥ QO
| | o =n — (- G)
|- | : : - - ¢ OF SKEWED BEAM - - (" |
o l | 1IE-3 L | 2 - =T 3 > |
A | | | — a e —" = = COLUMN WEB PLATE [
8 8 | 1| o S s S S ‘ (SEE NOTE 3) o
| | @ } . S, B COLUMN WEB PLATE S, B S, B - B j
} } @ - B COLUMN WEB PLATE ‘ © - ><
—7 - =
| InninE - — J — | o
| | é GRAVITY COLUMN, SEE PLAN - % e J/ [CA GRAVITY COLUMN, SEE PLAN % | J/\ \" J
\ \ > - ~
~
\ \ ~ - - | N [cGlGRAVITY COLUMN, SEE PLAN ISSUE DATE: 05/01/2022
| | T SKEWED W BEAM([G] | ¢ OF SKEWED BEAM | yan
| | 33/4" L 3/4"@ A325-N FIELD BOLTS (SEE £ OF SKEWED BEAN \
\ \ FOR © £14.7° FROM PERPENDICULAR FOR 14.7° < © £ 30° FROM PERPENDICULAR PROJECT NO.: -
/ | BOLT SCHEDULE FOR MIN. FOR 30° < © £45° FROM PERPENDICULAR
HSS COLUMN| CG 1 | NUMBER OF BOLTS, "A")
SCALE: As indicated
\ | NOTES: \_ J
: : 1) BEAMS NOT SHOWN FOR CLARITY
2) 1 SKEWED BEAM TO COLUMN CONNECTION SHOWN. SEE PLANS FOR ACTUAL QUANTITY OF CONNECTIONS. (SHEET NO )
3) WHERE 30°< © < 45°, BEVEL THE END OF THE COLUMN WEB PLATE SO THAT IT IS FLUSH WITH THE FACE OF THE HSS WALL. '
NOTES: 4) THE ALTERNATE BEAM WORK POINT MAY BE USED PROVIDED THAT THE WELDS OF THE COLUMN WEB PLATE ARE MADE
1) FOR COLUMN WEB PLATE DEMENSIONS AND BOLT SCHEDULE SEE DETAILS 7/5X-3.20 & 3/5X-3.20 ON THE FLAT SURFACE OF THE HSS WALL. THE ALTERNATE BEAM WORK POINT DOES NOT APPLY WHERE 30°< © < 45°. SX_3 20
SCALE: SCALE: SCALE: _
SECTION - GRAVITY COLUMN BASE CONNECTION 112" = 20 SKEWED BEAM TO GRAVITY COLUMN DETAIL 112" = 1 6 SECTION SKEWED BEAM TO GRAVITY COLUMN 3= 10" 4 5’2;2‘(:2552?2‘-55 »
1|_0|| 1|_0|| =1 \ 4l )/

S




XL400_Rev12_detached.rvt

7

N

N\
q_COL. ~—— FACE OF FTG. -~ FACE OF FTG. q_COL. SLAB-ON-GRADE, REINF. \’,
| | NOT SHOWN FOR CLARITY l \
HOOPS & TIES, SEE SCHED. HOOPS & TIES, SEE SCHED. HOOPS & TIES @ VAR. SPACING, SEE SCHED. HOOPS & TIES, SEE SCHED. HOOPS & TIES, SEE SCHED. : i _ i \ | S0G. CONXTECH
16 1 . = /\4\:74 : \q\ Aqq o 44 ;}, 2 \ Simply Faster
| | BOLTS  BOLTS | | . ; L BT :
S A AT A A T T S S T T S A A A A A AL S
| NERER RN ENEN | | OSSO SOSO ST SIS SIS I SIS IS T IS T SN
\ | SX330ex330 $X-3.308X330 sx3319x:3.31 | | I S0S0-0-0=-0-0-0-0:-0-0-0-0=0-0-0-0:0-0 ch Conactors Liare o 8525
V@ | mm | g | @% V@ | @/ i | @% @ o e e /‘\ Pleasanton, CSXi;eéég
_::37\ = AAAT TN ALz ad 4 . : t:z— T :ﬂj T510.264.9111
‘ — ] =1l 1- F 510.264.1181
| E ‘ — — www.ConXtech.com
‘ § = - ;ﬁ HOOPS & TIES (TYP.)
+ « |G = o L O e \
. . 2 Lr © FOR OTHER CONDITIONS
v R o 2% Wt‘ ‘w:/?)‘FV‘w: a1 o o o o S o o o o ‘tj "é‘ 2% ‘tﬁ ‘t‘ﬁ v v v — v ES - 77
| } \ () — } | i 7
> L
S — - LONG. REINF. T&B
ERWER J | ERNER o2 aall el o) =
FTG. SEE PLAN SEE DETAILSW &W FTG. SEE PLAN SEE DETAlLSW &W d 3 L N ‘4’ y e
FOR HOOPS DETAIL WITHIN FOR HOOPS DETAIL WITHIN T*‘ =TT T 11T 1T T 1T TTT |
LONG. REINF. FOOTING FOOTING T
EXTENSION (TYP.)
LONG. REINF. .
EXTENSION (TYP) GRADE BEAM WIDTH  PROFESSIONAL SEAL:
e N
REVISIONS:
SCALE' SCALE' NO. DATE: DESCRIPTION:
GRADE BEAM ELEVATION o 5 GRADE BEAM SECTION - 12 BOLT BASE PATTERN S 1 o osost SR
112" =1'-0 1"=1'-0 11 02/17/2023 SDR 043
~N
¢ COL. coL
X-3.3
‘ LONG. REINF. X-3.3 T
HOOPS & TIES (TYP) (T&B) — HOOPS & TIES (TYP)
LONG. REINF.
T&B Lt i
(168) —~i— : = .
/]
// - Y,
‘ ~ e N
7ihY 4741 474
O o O Ol O =E ® ) ) e T
77 w /@ 7 /@
© © 5 a
s 251
- T et atredl— - — — 7 & ¢qcou o Tt
T mat mat ® @
©) il | ©
I | } 2 ol all d
4 @{@ © @{@ @@{ © /\
8 4
X-3.3
'S =
FOOTING DETAILS FOOTING DETAILS
. NOT SHOWN NOTE: BASE PLATE AND COLUMN — NOT SHOWN
NOTE: BASE PLATE AND COLUMN
NOT SHOWN FOR CLARITY. NOT SHOWN FOR CLARITY. "
REINFORCMENT @ BASE PLATE - 16 BOLT BASE SCALE: 6 REINFORCEMENT @ BASE PLATE -12 BOLT BASE SCALE: 2 =
PATTERN - PLAN VIEW 3/4" =10 PATTERN - PLAN VIEW 3/4" = 10" §
(8)#5 EW. TYP.
SLAB-ON-GRADE, REINF. #5 DOWELS HOOPS & TIES (TYP.) (8)#5 EW. TYP. F
NOT SHOWN FOR CLARITY AROUND oL ' (@)
S.0.G. PERIMETER OF BASE Qoo ¢ coL HOOPS & TIES (TYP) LLl
- : — 5 —7- — 4 PLATE. ‘ —
: 3 S e et d 5 PER SIDE. 1-0" GRADE BEAM REINF., SEE
T 20 TOTAL i SCHED —— GRADE BEAM REINF, SEE O
SO EOSOE OSSOSO SO SOS USSR \ ro | | SCHED. 14
ISOS0S0S0S0505050505050505050505050505 AN I P 1506 4 o
[y T — ST | |
=] — = I T \ e @
i — o o —| || = . | ’ 1 | | /] 1 S0G.
IE (@\ 7% 7 e - N Ao SO iy | CHY R 2 NS IR i
— | %O =) RN M i W T i m e ) Z Rl P ST
— — RN P -0 o%‘»:fw*«? A
“: |7~ HOOPS & TIES (TYP) m v SCISCIEONH| 7 HAriA4 e A4 ) 0)
= n 7Z7 m 8 - : == \: // // -
S - A SEEW&W | #5 DOWELS —— NN iniNZE 7y “" /
= - — FOR OTHER CONDITIONS | | = AROUND | |
= (AN T
a - | | % = PERIMETER OF | | =
g i | | | == BASE | | s 3
] — | | 33 PLATE. | | = £
— | | wIC 5 PER SIDE. | | g9 3
. 1 S LONG. REINF,, T&B | ‘ | < 5 20 TOTAL. | | a8 B
O A pava L
o . o /- | | | | & 8 :
. | == = e % — j j « ®
—— BR BR T BE T e e !/QJ,Irw“r 7 % S B—dn & f\JJ_. @ ® ® / 077—&——”kfifi : a % E
=TITI=I =T = T=IT =] 1= - —H=E \ . / L=z { ZEe—& e o 3| &
J FTG. REINFORCEMENT, / 5 E
GRADE BEAM WIDTH SEE PLAN w
GRADE BEAM = z
REINF. SEE SCHED. EFFECTIVE FACE OF S;EASDCEHBEEDAM REINF. FTG. REINFORCEMENT, < <
PERPENDICULAR GRADE ' SEE SCHED. \_ o =,
BEAM BEYOND. SEE - N
sras
SCALE: SCALE: SCALE: w
GRADE BEAM SECTION - 16 BOLT BASE PATTERN T SECTION - 16 BOLT BASE PATTERN 34" = 10" SECTION - 12 BOLT BASE PATTERN 34" = 10" o 1
m [r—
45 DOWELS AROUND #5 DOWELS AROUND (8)#5 EW. TYP. (@5 EW. TYP, = <
PERIMETER OF BASE
| | PERIMETER OF BASE PLATE. 5 PER SIDE. GRADE BEAM REINF, SEE q coL. GRADE BEAM REINF,, SEE < E
| | PLATE. 5 PER SIDE. 20 20 TOTAL ﬁ_ oL SCHED. #5 DOWELS g SCHED. J Q
GRADE BEAM | | TOTAL. HOOPS & TIES (TYP. AROUND PERIMETER 0 HOOPS & TIES (TYP.) o B
(TYP.)
REINF. CONT. (8)#5 E.W. TYP. | OF BASE PLATE. ‘ ' |
BEYOND | | | | LLl 2
5 PER SIDE. 1" | |
| | | | 20 TOTAL | | n O
S.0.G. —
S st N A C R & : | | A 506, g —=
i R TR SRS 1 s, N1 S PED (R — @é - g
7 =y 470 . < o - 4/ I é 4 Ca q P RN el @ @ . EN S
SPOREX a1 in 1 @Jv// S N 7 %;44/ S =
e e L — N :
) = ']l : [y e o e ® ‘ ‘l ; !I y ‘ J O
{ | { | | . XL
\ \ By | | a g‘ o
ELEV. PIT | | § 3 } } = . =
' | | =5 il B \" Y,
| | G| v ‘ \ o U
a8 2 ‘ \ e = 4 ™
| | % " | | | 3 ISSUE DATE: 05/01/2022
| L i I | e
2t e e 8 3 i G P P . .
@ . . . . = . ‘\.Xt.* D e e e - = — . v '/ (AT Z AN Q . ' PROJECT NO.:
= AN
L e REINFORCEMENT, // ;EE-PFEE\'EFORCEMENT' SCALE:  As indicated
SEE PLAN GRADE BEAM REINF,, SEE L )
VSRR SCHED.
— ) FOR REINF. SEE gy i GRADE BEAM EFFECTIVE FACE OF T O (SHEET NO. )
e % FTG. SCHED. www StINF. SEE SCHED. PERPENDICULAR GRADE PERPENDICULAR GRADE BEAM BEYOND.
T G G BEAM BEYOND. SEE 11 SEE /71
330 X330 SX-3.30
SCALE: SCALE: SCALE: .
SPREAD FTG @ ELEVATOR PIT o o |12 |SECTION - 16 BOLT BASE PATTERN o o | 8 |SECTION - 12 BOLT BASE PATTERN o o | 4 ||
N 14:




N

NI

@,

S\

CONXTECH’

Simply Faster

CA Contractor’s License No. 855525
6600 Koll Center Parkway

Suite 210

Pleasanton, CA 94566

T510.264.9111
F 510.264.1181
www.ConXtech.com

\

PROFESSIONAL SEAL: )

REVISIONS:

-
\_

NO. DATE: DESCRIPTION:

9 05/04/2021
1" 02/17/2023

SDR 049
SDR 043

PROJECT NAME

PROJECT ADDRESS:-
PLAN SET STATUS:

-
g

G

XL400 BASE PLATE &
FOUNDATION DETAILS

TITLE:
.

( )

ISSUE DATE: 05/01/2022

PROJECT NO.: -

\

SCALE: As indicated

g

(SHEET NO.

XL400 Rev12 detached.rvt

BOTTOM BEARING COL. )
FILLET WELD INSIDE eSO, C} ‘ —r
CJP HSS TO BASE BACKING RING TO E T3 s Bl el s =
PL DCW | 114, BASE PL SX-331 0= rj |
HEAVY HEX NUT A } %
BACKING RING PL1" THK. R WASHER W/ STD. HOLE — + &7 ©
\?V?A%ﬁl?iievﬁTilogpADNgthE BASE PLATE W/ OVERSIZED HOLE, e St FORSZE — o L T e e
HOLE - PER ANCHOR ROD SCHEDULE sx3.31 SCHED-FORSIZE / — ’ | .
SIZE AND THICKNESS PER I\Pﬂlla[\gZAEUc%)NNC/:IgngéOBDASE PLATE CONCFILL SEE GoN I T ] /e M.
ANCHOR ROD SCHEDULE PER ANCHOR ROD SCHEDULE — [ R R S N sx331 ®
THREAD LENGTH z . BASEPLATE THICKNESS CJP WELD PREP FOR HSS16x16 COLUMN HOH 1@ o Iz
.2 5A 3" = 10" / ‘ | =
N b NOMINAL GROUT THICKNESS D R CHOR ROD SCHED. : ‘-- N
%ﬁmqb i PER ANCHOR ROD SCHEDULE AND ANCHOR ROD SCHED. 2L & ° Sy T (2HSRODS
gERTi(I;NH:ﬁﬁ'LI'EASND e ¢ MINIMUM EMBEDMENT LENGTH BACKING BAR 3/8'1
WASHER OR SHIM STACK AT -~ PER COLUMN SCHEDULE CIPBOXTOBASE. | | e 1| oA OPTION 1 (12 BOLTS) B,
CONTRACTORS OPTION / - ————_ ANCHOR ROD PER ANCHOR ROD PL DCW | \ "o = £ NOTE MIN. EDGE
COORDINATION 2 SCHEDULE / COLUMN SCHEDULE BOTTOM BEARING | L CO- | | = & DIST.MAY BE LARGER
=> ( \ PLATES BELOW, SEE : : = < FOR RODS > 11/2" @;
BOTTOM OF CONCRETE —— =3 % % FULLY TIGHTENED DOUBLE NUTS A \i oo ool —r REF. ANCHOR ROD
S OR HEX BOLT HEAD / sx3.31 ~_- T 1 1 SIS |
\ o B
- 1 B A S2c M
CJP WELD PREP DETAIL B - + | =1l SE
-z FOR BOX16x16 COLUMN v S 1611 RoDs
= 10" P WASHER W/ STD. HOLE ) RN | /
TYP.), SEE ANCHOR ROD 4 - \ A
ANCHOR ROD SCHEDULE ke o 2 =1
SCALE: L - ]
ANCHOR | BASEPL |  MIN MIN_ [MINPROJ | NOMINAL | M EDSE COLUMN TO BASE PLATE WELD DETAILS 3" =10 5 1 | -o|-[o| tolf —
ROD | HOLE DIA | WASHER | WASHER | ABOVE | GROUT BASE SEE BASE PLATE SCHED. — “ " "
DIAMETER| "D SIZE t BASE PL |THICKNESS AND ANCHOR ROD SCHED. 2102 634 | 634 |, 634" | 634 21/2°  CONC.FILL
PLATE MIN | MIN SEE GSN
3/4" 15/16" 2" 1/4" 3" 2" 11/2" ”
1" 17/8" 3" 3/8" 31/2" 2" 2" 2B ?F:TOlON 2 (16 BOLTS)
11/4" 21/8" 31/2" 112" 4" 21/2" 2 1/4" 5
11/2" 2 3/8" 4" 112" 4" 21/2" 21/2" . x sy \
i 2 - o om e
2" 31/4" 5" 3/4" 5" 31/2" 31/2" ; o £ /VL / g -\
212" 3 3/4" 512" 7/8" 512" 4" 4" uy ‘ ol | bl % LEVELING NUT
é % N N W/ R WASHER
NOTES: 5 Vr i % 7 s! 7 0 0 ‘ qA @ FOUR CORNERS
1. SEE TYPICAL BASE PLATE DETAILS N 5 W T
'\b \ BEARING PLATES
2. TACK-WELD AS REQUIRED FOR ERECTION L Q7 SEE DETAILS
oC SECTION R
3. REFER TO NOTE #11 ON SX-0.09 FOR ADDITIONAL GROUTING REQUIREMENTS. 1" = 10" oxas & o
\ / COLUMN WALL | WELD BASE PLATE OPTION ANCHOR ANCHOR ROD
COL-PROFILE |-ryckNESS (IN) | DETAIL | THICKNESS SOOI ROD @ MATERIAL
HSS16x16
\ BOX16x16
HSS BOX16x16
BOX16x16
SCALE: HSS COLUMN BASE PLATE AND SPLICE JOINT SCALE: MOMENT BASE PLATE DETAIL FOR 16x16 MOMENT SCALE:
ANCHOR ROD DETAIL o |14 BACKING PLATE RING soro | 0 |coL rere | 2
q- COL B 3 8" 8 3 2" 3 3
GAP
¢
CM = 7 = i (8) ANCHOR RODS
| & (4R 11/2"x6"x1'-10"
] ] 1A 4
SLAB-ON-GRADE; ¢ COL K - 4; Q) R WASHER w/STD HOLE, o © © © /
WELDABLE THREADED REINF NOT SHOWN Q RGBS I (TYP.), SEE ANCHOR ROD _
REBAR COUPLER (TYP) FOR CLARITY HOOPS & TIES (TYP) L H fL k - @ SCHED. FOR SIZE )
— HOOPS & $ o J// HSS16X16 COL. W/ O O
TIES (TYP) \ o e e CONC. FILL. SEE GSN
N < 4 A 2 2 ) . a a %, < ; 4 ’ o - ° GZZZ 77 7z ES)
% 4 a7, o : ar . ) < 4 “ e Aq 4 a ) A . . ° ° = 77@77 @7
) ’ “ g ) ’ qA Id % | BASE PLATE SEE BASE PLATE O O
ANCHORAGE REINF W/ N (TYP) Tﬂ/ | F % SCHED. AND ANCHOR ROD SCHED. :
THREADED END (TYP ) o Ta T, . j s PLAN VIEW ”
( ) 4’\ L . 3 8 o o EJ j iﬂ“ . g 8A e 10"
[ ] N [ X ] [ X ] [ X ] [ X ] [ X ] [ X ] ‘ [ ] IDE\ /\Eli [ ] ‘ [ X ] [ X ] [ X ] [ X ] [ X ] [ X ] [ ] iji — — — — — B — 7 — <> — % . O O O
[ o0 @ oo o \ B4R = 5 " \
D_. [} [} ) . N—e [ %
g |:E [ﬂ 1 Eﬂ (E STD. HOLE (TYP.)
; : y
= o = [ e o e . HSS16X16 COL. ; ; W
T > L W/ CONC. FILL. | | LEVELING NUT @ FOUR
Iz—o <DE ° . ° o SEE GSN ‘ ‘ CORNERS SCALE:
| Sk = . & / /\\ | e |BOTTOM BEARING PLATES (12 BOLT) OPTION 1 112" = 3
GRADE BM GRADE BMWIDTH @ \ \ I ROD SCHED. FOR THI(EKNESS 1-0
[ L ‘ |
— | | ..
LONG. REINF (TYP) % } ) } % %/1 3(/T4YP§AP
/pﬁ} H v ;r “ Cr f —‘4; (8) ANCHOR RODS
— GRADE BM LONG : Dl B B Mg ~E4O O O O O
REINF, SEE SCHED 5 Y & U\ z 5 (@) R 11/2°X5"2'-1 1/4" J
O O
COLUMN PROFILE | WALL THICKNESS (IN.) | "Z" OFFSET (IN.) | It . ol
W/ WASHER S .
BOX16X16 21/2" 2 1/4", 2" 6" PLATE o (5)
BOX16X16 13/4",11/2", 1 1/4" 5"
BOX16X16 <11/8" 4" COLUMN | WALL  IWELD SIZE,| BASE PL | BASEPL
RODS,SEE SCHED NOT SHOWN FOR CLARITY (IN. "B" (IN) | tbp (IN.)
Y SECTION
2" NON-SHRINK o O O O q O
GROUT
STD. HOLE (TYP.)
SCALE: SCALE: SCALE:
ALTERNATE - EMBEDDED SMF COLUMN BASE DETAIL =1 1 2 PIN BASE PLATE DETAIL FOR 16x16 MOMENT COLUMN =10 BOTTOM BEARING PLATES (16 BOLT) OPTION 2 11/2" = 4
10" )

\1/6/2025 2:15:02 PM

SX-3.31

PRINTED ON:




XL400_Rev12_detached.rvt

N

Yy
=
G GIRDER \ ;
fL SUPPORTING BM GAP (11210 34) g NOTE: BLANK FLANGE COLLARS \0,
| GAP (1/2" TO 3/4") SUPPORTED BM < WITHOUT MOMENT BEAMS ARE l \
o NOT INCLUDED IN THE PROTECTED ZONE _ o
ﬁ / . <5 2 CONXTECH
r J SIM SEE BOLT SCHEDULE / © 3 HSS 16x16 imply Faster
- SEE BOLT SCHEDULE FOR QTY., A", -
(@ o) \‘ mm PER LEG (TYP) ; 71/8"
, \ , [ 2 m CA Contractor’s License No. 855525
‘ E am O ‘ g B W a ‘ b | 6600 KoI[CenterSF’grkvzv%
, | \ ’ Pleasanton, C:It964566
t@ I@W O J ¢ BOLT HORIZ. SHORT-SLOTTED
SAPE FOLES I SEAM WEB (AL %\\ o
" | OTHER HOLES ARE STD)) - www.ConXtech.com
-1 > e === = — —
= SUPPORTED BM t
1/4‘ il 4 - N
TYP. - (1) L5X5X5/8 /
1/4‘ COPE ONLY IF NEEDED “ 3 b
3/4"@ A325-N BOLT IN
STD. HOLES (TYP. AT L3) —— m I
X-4.1
R 1/2X4X4 (TYP) —— (1 OF 2) 3/4"@ A325-N BRACING BOLTS U
% IN'STD. HOLES (SHOP INSTALLED) EXTERIOR OF CORNER COLLAR IS NOT
' ‘ MOMENT BEAM PER PLAN PART OF THE PROTECTED ZONE
RBS DIMENSION SCHEDULE
| NOTES BEAM (in) b (in) (in)
1. SEE DETAIL 3/SX-4.21 FOR BOLT SCHEDULE. %/ an in cin | PROFESSIONAL SEAL:
NOTES: / = PROTECTED ZONE
- e N
1 SEE DETAIL 3/SX-4.21 FOR BOLT SCHEDULE. REVISIONS:
BOTTOM FLANGE LATERAL BRACING - IN-LINE KICKER |scaLE: BOTTOM FLANGE LATERAL BRACING - SINGLE ANGLE |scaLE: SCALE: "o PR DeeeRETON
OPTION e (13 OPTION ‘iz= | Q | REDUCED BEAM SECTIONB(RBS) TOP VIEW ey | || o e
1 '-0" 1 "0“ J 9 05/04/2021 SDR 049
10 05/01/2022 SDR 051
NO ATTACHMENT PERMITTED OTHER R RO
THAN SPOT WELDS FOR DECKING
~ \ NOTES:
NO ATTACHMENT ZONE NO ATTACHMENT ZONE 1. SPECIAL INSPECTION SHALL BE N
ACCORDANCE WITH 2019 CBC, CHAPTER
W/ OR W/O RBS (SEE NOTE 3) i ! W/ OR W/O RBS (SEE NOTE 3) 17 AND AWS D1.1. VISUAL INSPECTION
GIRDER A 2ue | | 7 1s A MEANS THE INSPECTOR VISUALLY
t 2R : | : INSPECTS THE WELDING FOR
W | I ADHERENCE TO THE APPROVED WELD L y
- PROCEDURE STARTING WITH FIT-UP AND
2 £ /112 GAP I I PROCEEDING THROUGH THE WELDING 4 D
a " *§ 5 PROCESS. CONTINUOUS OBSERVATION
E 14 . 3/4"@ A325-N BOLTS, TYP. IS NOT REQUIRED.
2 / 2. METAL DECK CAN BE SPOT WELDED IN
5 PROTECTED ZONE. ELECTRODE USED IN
SO |l r%/ L - S % - PROTECTED ZONE SHALL BE LOW
& = o ‘ HYDROGEN.
N A 3. SHEAR STUDS, MECHANICAL DECK
% FASTENERS, PENETRATIONS, AND
g FASTENERS TO THE BEAM WITHIN THE
| h A PROTECTED ZONE ARE PROHIBITED.
4. CONTRACTOR SHALL PAINT PROTECTED
21/2"2 1/2" ZONE WITH NOTE, "NO ATTACHMENT
| ZONE",
d WHEN NO RBS d WHEN NO RBS
REDUCED BEAM SECTION DETAIL (RBS) &
oA NO ATTACHMENT ZONE
1" = 1'-0"
LLl
SECTION - BOTTOM FLANGE LATERAL BRACING - et 40| REDUCED BEAM SECTION (RBS) e | ) =
SINGLE ANGLE OPTION | = "= 10" |l <
2
O
G GIRDER 1" LLI
GAP (112" TO 3/4") W3 COMPOSITE @ FROM PROTECTER, ZONE -
T{ DECK TYP. o o o o — EOS. O
: 5 5 TYP TYP. TYP. TYP. VARIES 10' TYP. Y
3/4"'0 A325-N BOLTS; P @ o —— - \ 0.
SEE BOLT SCHEDULE 2 g L g - \
FOR QTY., "A" (TYP.) : WD ;
, , = [ \
I | R5/8X5-1/2X(d-D-t) W \ N \
HORIZ. SHORT-SLOTTED % 2 ° ° ° TYP. W3 DECK
HOLES IN BEAM WEB (ALL B @ - — = i = = e e e "
OTHER HOLES ARE STD.) ——— m . | 2 4 - . . . #3 @12"0.C.
' S v (2) 3/4"@ TYPE B STUDS @ 12"0.C.
>/ 16‘ SUPPORTED BM \§§§\é - % COMPOSITE GRAVITY BEAM
AN /// 5/16‘ A < SEE PLAN
COPE ONLY IF NEEDED ' ; '
g |
) #3 @[12' Q4. A i §
FOUL LENGTH of BeaM | q <
< »
MOMENT BEAM, NOTE: ONE SIDED DECK CONDITION SHOWN 5 H
l! A / SEE PLAN TWO SIDED CONDITION SIMILAR i Z
NOTES \ ) % é
1. SEE DETAIL 3/SX-4.21 FOR BOLT SCHEDULE. PR?BE’EETED 2 3/4°6 TYPE B STUD@12'0.C | oca - Y,
ot a=SHEARSTUD @ +1/8"| | [ A
BOTTOM FLANGE LATERAL BRACING - SINGLE PLATE §C1'°,‘2';E: 1 1 TORSIONAL BRACING - DECK PERPENDICULAR TO SCALE: 7 TORSIONAL BRACING - DECK PERPENDICULAR TO 3101%& 3 —
OPTION o MOMENT BEAM- PLAN VIEW 3/4" = 10" MOMENT BEAM- SECTION VIEW o <
3/4"@ A325-N FIELD BOLTS LL]
(SEE BOLT SCHEDULE FOR MIN. m
| | NUMBER OF BOLTS, "A"& "B")
> 1 4 R DR e SVE 340 mAX > g
Rn e s L R T.05. Wl =
¢ SUPPORTING BM /T ‘ | 3 DT c 4 <
N —f AN E h
S . O L
" - . T o | Al e
= | A/2' GAP & XY\ _ X o i i | = 0
0 M Q - = \ : I ‘ \ —_
e i 3/4" A325-N BOLTS, TYP. (1) %" A3255C BOLT = o I HH |~ (e
o 2 / SHORT SLOTTED HOLE IN I \ | i N | 8
z i} -
> %/ ! BEAM HATERAL BRACE L4X4X1/2 %" A325N SHOP & AR | L O ]
i J SEE PLAN . BOLTS - / | :
> i 21/2\ = - / z \ ><
o LAX4X1/2, TYP. -, = = | =
S S SUPPORTED WF BEAM[G] L \]% Ak o SUPPORTED WF BEAMG] | | 4;
212" N I =
\\\:\\\ / - ! By \E J
I 5/16" THICK EXTENDED BEAM [ 3 =
g\i 7 . o WEB ANGLE, TYP. EA. SIDE e = (" )
N — - OF SUPPORTED BEAM W & ISSUE DATE: 05/01/2022
I\ 1 & z
L3x3%5/16 = s = — 3/4"Q A325-N ;
LATERAL BRACE M & ERECTION BOLT (1 OF 2) 3/4"@ A325-N BRACING BOLTS PROJECT NO.: -
11/ = (SHOP INSTALLED) IN STD. HOLES (SHOP INSTALLED)
11/2" OR DIMENSION TO CLEAR k EAEC:\'\;ENT MOMENT BEAM PER PLAN SCALE: As ndicated
" " \ J
SEE PLAN NOTES p g
1. FOR BEAM WEB ANGLE DIMENSIONS AND BOLT SCHEDULE SEE 1/5X-4.20 AND 3/SX-4.20 SHEET NO.
2. FOR NOTES NOT SHOWN SEE 17/SX-4.20
SECTION - BOTTOM FLANGE LATERAL BRACING - 3101%& 1 2 BOTTOM FLANGE LATERAL BRACING - s1c1pi5_E: 8 BOTTOM FLANGE LATERAL BRACING - EXTENDED 3101%& 4 SRINTED ON:
SINGLE PLATE OPTION ror PERPENDICULAR KICKER OPTION ror DOUBLE CLIP OPTION ot J (11812025 2:1508 P ),




XL400_Rev12_detached.rvt

N

7 -
\‘,
OF SUPPORTING BEAM 34° A325.N BOLTS. SEE BOLT OF SUPPORTING BEAM l \
(SEE B3(/)4L$j le%lsE-gUFLlELIE)OBROI\I/I_TI\IS 11/4" \ ) SCHEDULE FOR MIN. NUMBER OF 3/4"@ A325-N BOLT (SEE BOLT SCHEDULE OF SUPPORTING BEAM " .
NUMBER OF BOLTS, "A". PER LEG) N /3]//4%' m)l( XNG-[ElCTf( E_Eé\k”_ g\llgg o BOLTS, "A", PER LEG 11/4" 112" GAP | 3/8" BENT PLATE FOR MIN. NUMBER OF BOLTS, 2A PER LEG) 12 MIN CONX |. ECIHH
| SUPPORTED BEAM on / WF BEAM E 3/4" M Simply Faster
| f | / g 2
- - - T [a' mam
=) S [ =) S ‘ <=z 1 104" WF BEAM 1 W 114" .
o o CA Contractor's License No. 8656525
o d e © . dJl : - . .
I os [0 o 2z e I os (|00 o 2e sum fo = 3 iy
) @3 . 215 ) ® |5 : 2o 1/4" THICK WEB ANGLE, TYP. EA
= als |© 3| & = S| & © 3 = P SIDE OF SUPPORTED BEAM ° Fr0260 18
Eﬂ ED | M@ j Eﬂ :D EJ ED | m@ j Eﬂ :D : WWWFCiL?{IZeiAH pc?nl
< » |@ R = b @ s ® 1 G gte (1) @2e gg o
. | ® O | - 2 , oo oo
,@J m@?\ <@> : m@|\ . g é ©) : m@j g % w = 5 é ® 5 é - N
" ] 3/4"@ A325-N SHOP BOLTS : 2% |&A @ | 2| » Qo
/ 3/4'3 A325-N SHOP BOLTS | > % i 6 ﬂio ~ o|® | ©
o/ 1@ o _
SUPPORTED WF BEAM G | z > SKEWED WF BEAM[G] | f‘ 7 3/4"@ A325-N SHOP BOLTS é
3/4"@ A325-N ERECTION BOLT LONG LEG DIMENSION , | = x
(SHOP INSTALLED) VARIES. SEE NOTES 2. SUPPORTED BEAM[G] | & 7 < o
e | = 13/16"@ BOLT HOLES, EA. :
NOTES NOTES =
<C
1. FOR BEAM WEB ANGLE DIMENSIONS AND BOLT SCHEDULE SEE 1/SX-4.20 AND 3/SX-4.20 1. FOR BEAM WEB ANGLE DIMENSIONS AND BOLT SCHEDULE SEE 1/SX-4.20 AND 3/SX-4.20 3/4"% A325-N ERECTION BOLT =
SHOP INSTALLED
2. FOR GRAVITY BEAM COPE DIMENSIONS SEE DETAIL 6/SX-4.20 2. FOR SKEWED GRAVITY BEAMS, THE "LONG LEG" DIMENSION SHOULD BE CALCULATED USING THE SKEW ANGLE AND ( ) NOTES
THE DIMENSIONS SHOWN ON 14/SX-4.20 .
1. FOR BEAM WEB ANGLE DIMENSIONS AND BOLT SCHEDULE SEE DETAILS 2/SX-4.20 & 3/SX-4.20 \___PROFESSIONAL SEAL: )
3. FOR SKEWED GRAVITY BEAM COPE DIMENSIONS SEE DETAIL 7/SX-4.20 NOTES p N
1. FORNOTES NOT SHOWN SEE 17/SX-4.20 REVISIONS:
SCALE' SCALE' SCALE' SCALE' NO. DATE: DESCRIPTION:
BEAM TO BEAM GRAVITY CONNECTION e |17 | SKEWED GRAVITY BEAM CONNECTION s (13 DROPPED BEAM TO BEAM GRAVITY CONNECTION | %/4%: BEAM WEB ANGLE (BWA) xS e [N | ISR
1"0" 1l'0“ 1l'0“ 1"0“ 3 07/31/2019 Drafting Cleanup
5 12/19/2019 SDR 017 & 040
BEAM WEB ANGLE (BWA) LONG LEG LENGTH 10 ooz SPRoeT
FLANGE WIDTH -
bf OF SUPPORTING BEAM W' (IN)
4 55/8
.
13/16'0 BOLT HOLE 5-514 61/
/ 512-6 69/16
@ OF SUPPORTING BEAM - GAP\ C? OF SUPPORTING BEAM ./ 6112 67/8
¥ - 63/4-718 718 L )
| TOP BEAM FLANGE PY 02 7112-758 7516 p §
SHOWN FOR CLARITY % 2 8-83/8 71116
o /4" A325-N BOLTS ® 5o
.CEL 't . /zUPPORTING BEAM ’ R o G OF ERECTION BOLT 9-91/8 81/16
F & SKEWED BEAM| G | ®
O - = / 10-101/8 89/16
> B R S 10 1/4-10 1/2 8 3/4
- Ly fiBgEEOF s 11-113/8 91/16
e I W A S =1 — =
s 3/8" BENT PLATE ' o 1112-117/8 95/16
i . z 12-1238 95/8
SUPPORTED BEAM G 33/4
: %SEPORTED \ 6] = 121/2-125/8 934
SEA 3/4"3 A325-N BOLTS 12 3/4-13 97/8
(%o/\ NOTES 14-14 38 109116
X
! 3/4"@ A325-N BOLTS, %f,p/ 1, FOR BOLT SCHEDULE SEE TABLE 3/SX-4.20 14.1/2-151/8 10 15/16
| TYP R 15112 - 15 3/4 11316
NOTES
1. AT SKEWED BEAMS, THE "W" DIMENSION OF THE BEAM WEB ANGLE SHOULD BE CALCULATED USING THE SKEW ANGLE
AND THE DIMENSIONS NOTED ON DETAILS 1/SX-4.20 & 13/SX-4.20
2. INCASES WHERE THE OTHER END OF A GRAVITY BEAM IS A MOMENT CONNECTION (BMG, BGM, BCM & BMC) ALL BOLTS
USED IN THE GRAVITY CONNECTION SHALL BE DESIGNATED A325-SC
LL]
SCALE: SCALE: SCALE: SCALE: E
SECTION BEAM TO BEAM GRAVITY CONNECTION 11/2" = SECTION SKEWED GRAVITY BEAM CONNECTION R GRAVITY BEAM COPED BOTTOM FLANGE 11/2" = BEAM WEB ANGLE DIMENSION SCHEDULE 112" = <
1'_0" 1|-0|| 1|-0|| Z
BEAM WEB ANGLE (BWA) DIMENSIONS 5
AT SUPPORTED BEAM AT SUPPORTING BEAM LUl
(LONG LEG OF BWA) (SHORT LEG OF BWA)
"D"T.0.S. -
. INCOMING ""CLP |"A"NUMBEROF| "S"BOLT |"B'NUMBEROF| "Q"BOLT TO EDGE O
) BEAM LENGTH (IN) BOLTS SPACING (IN) BOLTS SPACING (IN) OF CLIP (IN)
j 13/16" BOLT HOLE m
/ W12 81/2 3 25/16 3 3 13/4 0.
W14 9716 (TYP.) 4 25/16 3 3 13/4
./ 111/2 (NOTE 4)
° B g W16 11 3/4 5 25/16 4 3 134
22 W18 14112 6 25/16 5 3 134
® )
3|4 W21 14112 6 25/16 5 3 134
® | <o W24 17112 7 25116 6 3 1314
® W27 17112 7 2516 6 3 13/4
[ - W30 17112 7 25/16 6 3 134
o = W33 20 1/2 8 25/16 7 3 134
J— % W36, W40, Wa4 | 20172 8 25/16 7 3 134
SUPPORTED BEA 334"
NOTES
o ..
1. FOR W8 AND W10 INCOMING BEAMS, USE DETAIL 1/SX-4.21, 5/SX-4.21, OR 12/SX-4.21. @ @
'—
2. INCONDITIONS WHERE k REGION OF SUPPORTING BEAM IS ENCROACHED BY THE ANGLES, ADJUST "D" VALUE SO a E
ANGLES ARE CLEAR OF THIS REGION < P
&) LU
NOTES 3. INCONDITIONS WHERE A DEEPER BEAM IS FRAMING INTO A SHALLOWER BEAM, USE THE SMALLER NUMBER OF BOLTS u 2
NOTES FOR BOTH LEGS OF THE BWA. o <
[a [a
1. FORBOLTSCHEDULE SEE TABLE 3/SX-4.20 4. INCASES WHERE THE SUPPORTING BM HAS A W14 BM ON ONE SIDE AND A W16 OR DEEPER BM ON THE OPPOSITE SIDE \ <
AT THE SAME LOCATION (LE, THEIR CONNECTING ELEMENTS SHARE BOLT HOLES AT THE SUPPORTING BM WEB), USE L = s ~
11 1/2 FOR THE W14 BM CLIP LENGTH.
SCALE: SCALE: >
SKEWED BEAM COPED BOTTOM FLANGE 11/2" = BEAM TO BEAM CONNECTION BOLT SCHEDULE 11/2" = I:
1|-0|| 1|-0|| >
COPE % il
— LU
o 0
BEAM WEB 14 <
ANGLE (BWA
o Q W
o nm
o
<
SHOP INSTALLED —
ERECTION BOLT By ><
(ASSEMBLY) i
=
\~ Y,
s ~N
ISSUE DATE: 05/01/2022
PROJECT NO.: -
SCALE: As indicated
N Y,
(SHEET NO. )
SCALE:
BEAM TO GRAVITY BEAM ASSEMBLY DIAGRAM 11/2" = 4 PRINTED ON:
10"  1/612025 2:15:11 PM




XL400_Rev12_detached.rvt

N

N

é 4 e
\‘,
G SUPPORTING BM l \
‘ " " — ®
| _GAP (112" TO 314" CONXTECH
T = G SUPPORTING BM Simply Faster
= |
|4 ]
\(( % | GAP (1/2" TO 3/4")
@M O : ﬁ CA Contractor’s License No. 855525
34" A325-N BOLTS, SEE : [ ‘< 91 6600 Koll CenterSPgtrI<\/2v161(y)
BOLT SCHEDULE FOR = uite
QTY., "A", PER LEG (TYP.) @ @m O 5 o ( J - Pleasanton, CA 94566
, E o o n 3/4"@ A325-N BOLTS; e T
7 @ @M o SEE BOLT SCHEDULE I = T510.264.9111
r / W FORQTY., "A" (TYP.) —— | O a oKt
o5 f * A LR = ‘
HORIZ. SHORT-SLOTTED | —— r HORIZ. SHORT-SLOTTED |0 . W
HOLES IN BEAM WEB (ALL /S HOLESINBEAMWEB(ALL ( )
OTHER HOLES ARE STD.) N OTHER HOLES ARE STD.) o\ g,
/ SUPPORTED BM e
COPE ONLY IF NEEDED (1) LAX4X3/8 /5( 0 \
COPE ONLY IF NEEDED
) R 3/8X4X"L"
' 2o ‘ SUPPORTED BM
| ) 1/4‘
| # ]
| 114
|
| | PROFESSIONAL SEAL:
r N
REVISIONS:
BEAM TO BEAM GRAVITY CONNECTION - SINGLE SCALE: SCALE: No- DATE DESCRETION
11/2" = 5 BEAM TO BEAM GRAVITY CONNECTION - SHEAR TAB 11/2" = 1 2 04002/2019 SDR 038
AN G L E ' An ' ANl 10 05/01/2022 SDR 051
r r r 1 '0 r 1 '0 11 02/17/2023 SDR 043
G SUPPORTING BM
1/2" GAP
= f
o 17 3/4"% A325-N G SUPPORTING BM N -
'g BOLTS, TYP. e N
a
A ] . R GAP
v IS ! 5 s
N E 3@ 2 14
e / = 2" 3/4" A325-N BOLTS TYP.
= L4xX4 &
3 =T
2 | <
‘2/1/2" 112"
R 3/8X4
|
21/2"
| 112"
LLl
SECTION - BEAM TO BEAM GRAVITY CONNECTION - SCALE: 6 SECTION - BEAM TO BEAM GRAVITY CONNECTION - SCALE: 2 =
112" = 112" =
SINGLE ANGLE A SHEAR TAB R <
-
BEAM WEB ANGLE (BWA) AND BEAM WEB PLATE (BWP) DIMENSIONS O
VARIES LL
] HORIZ, SHORT-SLOTTED HOLE INCOMING ""CLP  |"A"NUMBEROF| "S"BOLT "D"T.0.S. TO EDGE -
2 (SEE BOLT SCHEDULE FOR BEAM LENGTH (IN) BOLTS SPACING (IN) OF CLIP (IN)
MIN. NUMBER OF BOLTS, "A") O
— = w8 5112 2 3 13/4 (TYP.), 1 1/4 (NOTE 1) Y
Ty o W10 5112 2 3 13/4 (TYP.), 1 1/4 (NOTE 1) (a
. 2 o W12 8112 3 3 13/4
3 § W14 8112 3 3 1314
e & W16 11112 4 3 13/4
Ql»
° ~ ® W18 14112 5 3 13/4
° W21 14112 5 3 13/4
( W24 17112 6 3 13/4
T L w27 20112 7 3 13/4
7 z " W30 20112 7 3 13/4
SUPPORTED BEA 334" = W33 23112 8 3 13/4
W36, W40, W44 | 231/2 8 3 13/4
NOTES % &
1. FOR W8-ON-W8 AND W10-ON-W8 CONNECTIONS, USE D = 1 1/4", OTHERWISE, USE D = 1 3/4". FOR W8 AND W10 INCOMING @ F
BEAMS IN A BEAM TO XL400 COLLAR GRAVITY CONNECTION USE DETAIL 13/SX-4.22. 2 b
NOTES 2. IN CONDITIONS WHERE k REGION OF SUPPORTING BEAM IS ENCROACHED BY THE PLATES OR ANGLES, ADJUST "D" 3 E
VALUE SO PLATES AND ANGLES ARE CLEAR OF THIS REGION o >
1. FORBOLT SCHEDULE SEE TABLE 3/SX-4.21 o <
3. INCONDITIONS WHERE A DEEPER BEAM IS FRAMING INTO A SHALLOWER BEAM, USE THE SMALLER NUMBER OF BOLTS L o T
FOR BOTH LEGS OF THE BWA OR BWP.
s N
SKEWED BEAM FLANGE COPES YT SCALE: 29
112" = BEAM TO BEAM CONNECTION BOLT SCHEDULE 11/2"= 3 < =
1|-0“ 1|- "
- - - 4 Zz <
o
|| m
Q0
G SUPPORTING BM E E
| GAP (1/2" TO 3/4") S <
| ﬁ 7/16‘ 1470 o
: 70 <0<25", = LU
[ 1 ¥ 2 1/4‘ 31/8<Y<5 O m
~7 . 6 ] 5/16‘ o< gee
| X 5/ 0 <720 30° < 6 < 45 U >
3/4'® A325-N BOLTS; [ Oo+= "l Y112 1/2‘ 225° < 6 < 30°%; G BM 1/4‘ 615/16 <Y < 12
S e o o TN » S E
o . I
:— ) & il < 3/8 7.2° <0 < 14.7% | S >
HORIZ. SHORT-SLOTTED , \ G SKEWED BM Y
HOLES IN BEAM WEB (ALL/ O P >
OTHER HOLES ARE STD.) . = Y i Q)
= \ P :
/ : —— G SKEWED BM WP ' G y
COPE ONLY IF NEEDED i R 3XAxL" RN A\ 1 - N
SUPPORTED BM K L, I ISSUE DATE: 05/01/2022
e P
N 112" o /
112" 21/2" | PROJECT NO.: -
112" NOTE: BEVEL END OF SHEAR TAB SO
‘ THAT IT IS FLUSH WITH THE FACE OF
| THE SUPPORTING BEAM WEB, SCALE:  11/2"=1-0"
| | \_ Y,
s N
FOR @ < 14.7° FROM THE PERPENDICULAR FOR 14.7° < 8 < 30° FROM THE PERPENDICULAR FOR 30° < O < 45° FROM THE PERPENDICULAR SHEET NO.
SCALE: SCALE: .
SKEWED GRAVITY BEAM CONNECTION 112" = 1 2 SECTION - SKEWED GRAVITY BEAM CONNECTION 11/2"= 4 T/ZgoTzEsngg-Hs o
1|-0" 1|-0" \ : :




XL400_Rev12_detached.rvt

3/4"@ A325-N BOLTS —

(SEE BOLT SCHEDULE FOR MIN.
NUMBER OF BOLTS, "A"), PER LEG

11/4"

12"

" TYP/ D"

L
11/4"

(? OF COLUMN

g
@
(@\

@
@
6)

0

A

wn

TYP

BEAM G |

3/8"X4" WIDE SHEAR TAB/_}E
COLLAR WEB EXTENSION T

@) | R

@D\ | i
BEA

(© OF COLUMN

2
gros 1S
1 D) | ]
@ |
|
| o
|
@ |
o,
A
B LI
L?; | i
' BEAM M |

3/4"@ A325-N BOLTS. SEE —
BOLT SCHEDULE FOR MIN.
NUMBER OF BOLTS,"A", PER
LEG

11/4"
12"

GAP

(© OF COLUMN

11/4
TYP

S
TYP
D ©-60-0-0-0-©1

"
ngn
@vvvvvv

\
)

©

{
¢

)

%
a
(@)

0

Bl

BEAM G ||

o)

3L1.
@D | /
BEA

3/4"@ A325-N BOLTS ——
(SEE BOLT SCHEDULE FOR MIN.
NUMBER OF BOLTS, "A")

: ;
[
i o !
0§ o
=1 ol
®
@ |
3
b il
BEAM | G | % ;

3/4"@ A325-N ERECTION BOLT

11/4"

112"

o /GAP

ﬂ@) OF COLUMN

=

)

©

%

¢

J
0

©

0
(¢

A

)

©

my

ﬁ-
@

¢

t.

)

C
©

(¢

R

| DI | i
i BEA

2 N\

(CWX400) SEE 5/SX-0.10 | 1 N (SHOP INSTALLED) |
| N DROPPED W BEA N X , 3/8" BENT PLATE HSS 16x16 COLICM| WITH CONC. 3/8"X4" WIDE SHEAR TAB | N HSS 16x16 COLICM| WITH CONC.
i | rEges e see A AR e cous e ExeNsin S et ez EXENn I
i | i NOTES NOTES (CWX400) SEE 5/SX-0.10 ' ‘
NOTES | 1 | FOR NOTES NOT SHOWN SEE DETAIL 1/5X4.22 1. FORBENT PLATE DIMENSIONS AND BOLT SCHEDULE SEE DETAIL 3/SX-3.20 NOTES /
1 FOR SHEAR TAB DIMENSIONS AND BOLT SCHEDULE SEE 3/SX3.20 2 FOR SKEWED GRAVITY BEAM BOTTOM FLANGE COPE DIMENSIONS SEE DETAIL 16/SX-3.20 1 FOR SHEAR TAB DIMENSIONS AND BOLT SCHEDULE SEE 3/SX3.20
3. FOR SKEWED GRAVITY BEAM ATTACHMENT TO CORNER COLLAR SEE DETAIL 10/- 2. FORGRAVITY BEAM BOTTOM FLANGE COPE DIMENSIONS SEE 17/5X-3.20
W8 AND W10 GRAVITY BEAM CONNECTION TO XL400 |scaLE: DROPPED GRAVITY BEAM CONNECTION TO XL400 SCALE: SKEWED GRAVITY BEAM CONNECTION TO XL400 SCALE: SCALE:
COLLAR P COLLAR S COLLAR A% | B |GRAVITY BEAM CONNECTION TO XL400 COLLAR o
i@) OF COLUMN (© OF COLUMN OF COLUMN E? OF COLUMN
/ BEAM M | / BEAM| M | / BEAM M |
“_ (7
HSS 16x16 COL. SKEWED BEAK G @ HSS 16x16 COL. HSS 16x16 COL.
W
: z s
— - = —(© — Hi—————=) — - ==
|
BEAM \ SKEWED BEAM | G k S \
BEAM HSS 16x16 COL. BEAM BEAM BEAM
FILLED W/ CONC.
COLLARWEB SEE GSN. COLLAR WEB EXTENSION —— COLLAR WEB
EXTENSION EXTENSION
NOTES
FOR NOTES NOT SHOWN SEE DETAIL 5/SX-4.22 f \ -0
SECTION-W8 AND W10 GRAVITY BEAM CONNECTION  |scaLE: SECTION-SKEWED GRAVITY BEAM CONNECTION TO SCALE: SECTION-SKEWED GRAVITY BEAM CONNECTION TO SCALE: 6 SECTION-GRAVITY BEAM CONNECTION TO XL400 SCALE:
TO XL400 COLLAR =10 XL400 CORNER COLLAR = 10" XL400 COLLAR = 10" COLLAR e 0"
3/8" SHEAR TAB
| EXTENSION
AERA
% |
Tl
. 3/8" BENT PLATE - |
/ 1 v 4‘ 3/8" SHEAR TAB L%J
SKEWED BEAM WEB / - - - (1/4) 'Fr)\J(E. EA. SHEAR TAB
/ \
/ COLLAR WEB EXTENSION
WORK POINT
DETAIL GRAVITY BEAM CONNECTIONS TO XL400 SCALE: 7 DETAIL GRAVITY BEAM CONNECTION TO XL400 SCALE:
COLLAR 12" = 10" COLLAR 6" = 10"

)(
—_— ®
CONXTECH
Simply Faster
CA Contractor’s License No. 855525
6600 Koll Center Parkway
Suite 210
Pleasanton, CA 94566
T510.264.9111
F 510.264.1181
www.ConXtech.com
( )\
\ PROFESSIONAL SEAL: )
( )\
REVISIONS:
NO. DATE: DESCRIPTION:
2 04/02/2019 SDR 038
3 07/31/2019 Drafting Cleanup
5 12/19/2019 SDR 017 & 040
10 05/01/2022 SDR 051
11 02/17/2023 SDR 043
\_ J
( )
8
=
S | £
2 7
— =
Q| @
=2 Z
g | 3
. J
( )
=
-
SNe)
O -
g O
< Z
L
-
=
\_ Y,
( )
ISSUE DATE: 05/01/2022
PROJECT NO.: -
SCALE: As indicated
. J
(SHEET NO. h
SX-4.22
PRINTED ON:
\1/6/2025 2:15:16 PM

>




XL400_Rev12_detached.rvt

BEAMd——

NOTES

-
|DIRECTION OF CANTILEVER .
§x4.23

trryp. arvp,® OF SUPPORTING BEAM
‘ P CENTERED ON CANTILEVER BEAM (SEE NOTE 3)
| 3/4'3 A325-N
= = | ERECTION BOLTS (FIELD INSTALLED)
] WITH 15/16'@ OVERSIZED HOLES.
ilm REMOVE BOTLS AFTER FIELD
@ e
s WELDING. (2 PER END OF PLATE)
| |
‘ A
e A BEAM C
| 515 I
ol -
Afl
3 SIDES EA. END
/ 1 /4‘ OF PLATE
— [ 7 1 —
b | Nl
P CENTERED ON
CANTILEVER BEAM
: (SEE NOTE 3)
11/4" TYP. 4" TYP.
SUPPORTING

BEAM, SEE PLAN

1. FORNOTES NOT SHOWN SEE 5/5X-4.23
2. SHEAR CONNECTION PER 17/SX-4.20 SHOWN; ALTERNATIVELY, USE SHEAR CONNECTIONS PER 1/SX-4.21 OR 5/SX-4.21.
3. PLATE THICKNESS TO BE DETERMINED BY EOR.

SUPPORTING BEAM, DIRECTION OF CANTILEVER
 SEEPLAN , , ,
| OF SUPPORTING BEAM
BACK SPAN P CENTERED ON
BEAM, SEE | CANTILEVER BEAM
PLANS (SEE NOTE 5)
D N I T \\/r ngl 1
—iF el —
B
3/4"Q A325-N L —Te, i |
SHOP BOLTS ——— =, | ! @I@q \
- o I
5ifsy
o : illla] :
® | e
BEAM C |— b el ~

1/4" BEAM WEB ANGLE,
TYP. EA. SIDE OF
CANTILEVER & BACKSPAN
BEAM

3/4"@ A325-N FIELD
BOLTS, TYP. (SEE BOLT

—— SCHEDULE FOR MIN.

—

3/4"Q A325-N
FIELD BOLTS (12 BOLTS
TOTAL PER PLATE)

BEAM GAGE

NOTES

R CENTERED ON
CANTILEVER BEAM
(SEE NOTE 5)

NUMBER OF BOLTS, "A",
PER EA. LEG)

e c]

3/4"@ A325-N ERECTION
BOLT, TYP. (SHOP-
INSTALLED)

1. FOR BEAM WEB ANGLE DIMENSIONS AND BOLT SCHEDULE SEE DETAILS 1/SX-4.20,3/SX-4.20 & 17/SX-4.20
2. FOR GRAVITY BEAM BOTTOM FLANGE COPE DIMENSIONS SEE DETAIL 6/SX-4.20

3. PROVIDE SHIMS AS NE

CESSARY

4. SHEAR CONNECTION PER 17/5X-4.20 SHOWN; ALTERNATIVELY, USE SHEAR CONNECTIONS PER 1/SX-4.21 OR 5/SX-4.21.
5. PLATE THICKNESS TO BE DETERMINED BY EOR.

R
43

DIRECTION OF CANTILEVER

r (® OF SUPPORTING BEAM
P CENTERED ON CANTILEVER BEAM
| / (SEE NOTE 3)
T g U YT oW
B
@ fHEn
| W’
l o i
. \ f ?Wi
SR €] ™~
| ~~
BEAM C | ® il \ BEAM| C
a v ‘
& S L4x4x3/8 ANGLE ONE SIDE
< OF CANTILEVER BEAM
‘v ‘ | 1/4‘
L
oo 3 C TYP
11/4 2 3 \q 4 1/4‘

NOTES
1.FOR NOTES NOT SHOWN SEE 5/SX-4.23

BEAM. MATCH FLANGE WIDTH AND'
THICKNESS OF CANTILEVER BEAM

2. SHEAR CONNECTION PER 17/SX-4.20 SHOWN; ALTERNATIVELY, USE SHEAR CONNECTIONS PER

1/8X-4.21 OR 5/SX-4.21.
3. PLATE THICKNESS TO BE DETERMINED BY EOR.

-

PIECE OF WF EA SIDE OF SUPPORTING

2 N\

WELDED CANTILEVER CONNECTION - TYPE 1

SCALE: 9
1 n = 1 I-oll

BOLTED CANTILEVER CONNECTION - TYPE 1

SCALE: 5
1 n - 1I-0Il

BOLTED CANTILEVER CONNECTION -TYPE 2

SCALE:
1 n - 1I-0Il

GAP VARIES
\ 4

11/4"

| >
\ 3 SIDES, EA. END
I
! 1/ OF PLATE
iy
h
| L —= ¥
! o _
_ [ | - = [a 8
<= N -1
| |
\‘ |
I
| \
I
BACKSPAN BEA ! CANTILEVER BEAM
A,
SUPPORTING BEAM

11/4"
GAP VARIESy 2" 3"

< 4

©

==

©

BACKSPAN BEA

BEAM GAGE

\‘ |

|

! :

|

I \ CANTILEVER BEAM

SUPPORTING BEAM

T —R
sy

BACKSPAN BEA

NOTES
1.FOR NOTES NOT SHOWN SEE 5/5X4.23

\\ CANTILEVER BEAM| C |
SUPPORTING BEAM

PLAN VIEW - BOLTED CANTILEVER CONNECTION

SCALE: SCALE: SCALE:
PLAN VIEW-WELDED CANTILEVER CONNECTION "= 10" 1 0 PLAN VIEW-BOLTED CANTILEVER CONNECTION e 1" 6 TYPE 2 e
BEAM GAGE
1"MIN, TYP
1" MIN.
/ TYP.
BEAM GAG
|

il @ if||s
fller@ E g
ilbe s

BEAM WEB ANGLE\ il e A2
if(s¥e) % o b
e L4x4 ANGLE, TYP. )|
. . il||sy
fller@ |

3/4" MIN CANTILEVER BEA
(TYP.) \’T‘* _— CANTILEVER BEAM
BEAM GAGE
3/4"@ A325-N BOLTS (4 PER WT)
NOTES

NOTES

1. SUPPORTING BEAM NOT SHOWN FOR CLARITY

1. SUPPORTING BEAM NOT SHOWN FOR CLARITY

SECTION - BOLTED CANTILEVER CONNECTION -TYPE 1

SCALE: 7
1 n - 1I-0Il

SECTION-BOLTED CANTILEVER CONNECTION-TYPE2

SCALE:
1 n - 1I-0Il

)(
—_— ®
CONXTECH
Simply Faster
CA Contractor’s License No. 855525
6600 Koll Center Parkway
Suite 210
Pleasanton, CA 94566
T510.264.9111
F 510.264.1181
www.ConXtech.com
( )\
\ PROFESSIONAL SEAL: )
( )\
REVISIONS:
NO. DATE: DESCRIPTION:
3 07/31/2019 Drafting Cleanup
10 05/01/2022 SDR 051
\_ J
( )
8
=
S | £
2 7
— =
Q| @
=2 Z
|3
. J
( )
=
Z <
(=
S
L
-
=
\_ Y,
( )
ISSUE DATE: 05/01/2022
PROJECT NO.: -
SCALE: 1" =1-0"

. J
(SHEET NO. h
SX-4.23

PRINTED ON:
\1/6/2025 2:15:18 PM




/f 4 N \\
NS

@,

S\

®
V= Cl
MOMENT BEAM WHERE CONXTECH

OCCURS. RBS SHOWN Simply Faster

?éif:é?:I;E;?NPSL-?;ELQ\;)XLA{OO TYP. AT SLAB EDGE CA Contractor’s License No. 855525
BENT PLATE BEAMS. NO WELD 6600 Koll Center Parkway
WITHIN PROTECTED Suite 210
TYP. AT 3/16 2-12 ZONE OF MOMENT Pleasanton, CA 94566
m A s BEAMS

4'-3" TYP.

I
DGE |
TYP. AT SLAB EDGE SQUARE HSS OR BUILT-UP L B aord et

BEAMS. NO WELD BOX COLUMN w X-5.1 4X2X1/4 ALIGNMENT PLATE

www.ConXtech.com

SIM CENTERED ON THE BENT PLATE

I
|
|
|
WITHIN PROTECTED | TYP. AT
3/16 2-12 ZONE OF MOMENT HORZ. LEG, TYP. | m SLAB
BEAMS | GRAVITY BEAM, WHERE OCCURS 19 \DGE - N
} / w X-5.1
4X2X1/4 ALIGNMENT PLATE L) SIM
| DECK FLASHING PLATE AT XL400
GRAVITY BEAM, OCCURS BENT PLATE PLATE VERT. LEG, TYP. | COLLAR (FIELD INSTALLED)
WHERE OCCURS |
‘\
|
|

SQUARE HSS OR BUILT-UP

BOX COLUMN

|
|
|
|
|
|
|
CONCRETE FILL WHERE CENTERED ON THE BENT |
|
|
|
|
|
|
|
I

|
|
AN \
X< | CONCRETE FILL
,,,,,,,,,, N | WHERE OCCURS
| / — 1 — |
AL o MOMENT BEAM, _ PROFESSIONAL SEAL: )
,,,,,,,,,,,,,,,, % N = WHERE OCCURS.
& RBS SHOWN. ( )
> S = REVISIONS:
= — =
<
™M NO. DATE: DESCRIPTION:
7
= GRID 4 08/08/2019  SDR 039, 041 & 042
6 04/16/2020 SDR 007 & 046
11 02/17/2023 SDR 043
1-6 1/2" TYP. — BENT PLATE (FIELD
1/4" GAP T e INSTALLED), TYP
X > 4X2X1/4 ALIGNMENT PLATE  TYP.
1/2"@ BOLT (SHOP CENTERED ON THE BENT PLATE
INSTALLED) WITH SSH HORZ. LEG, TYP. 1/2"@ BOLT (SHOP INSTALLED)
PERPENDICULAR TO THE | WITH SSH PERPENDICULAR TO
BEAM IN BENT PLATE BENT PLATE i BEAM IN BENT PLATE
4X2X1/4 ALIGNMENT PLATE TO CCA 1/4‘ ‘
PLAN CENTERED ON THE BENT PLATE p AT, | / \ r
—_— VERT. LEG, TYP. : TYP. AT ALIGNMENT
ALIGNMENT PLATE
4X2X1/4 ALIGNMENT PLATE pLATE. 3/16 2 3/16‘ 2
BENT PLATE (FIELD INSTALLED). PROVIDE CENTERED ON THE GAP | \ Y,
1/4" GAP AROUND MOMENT COLLAR
/ L2X2X1/4 X 0'-2" SUPPORT ANGLE e N
AT CORNER COLLAR (2 LOCATIONS L2X2X1/4 X 0'-2" SUPPORT ANGLE AT 43 Typ
AT EXTERIOR CONDITION) CORNER COLLAR. (3 LOCATIONS AT - :
EXTERIOR CORNER CONDITION)

NOTES: SUPPORT GRID
ANGLE TO

FOR NOTES NOT SHOWN SEE 2/5X-5.10. CCA EA.SIDE.” 14| / 2
OF VERT. LEG M

—_—

2. DO NOT ATTACH BENT PLATE TO NO ATTACHMENT ZONE OF MOMENT BEAM. FOR MORE INFORMATION ON NO ATTACHMENT ZONE SEE DETAIL 2/SX-4.10.
3. DO NOT ATTACH BENT PLATE TO COLLAR FLANGE TOP (CFT). FOR INFORMATION ON CFT SEE SHEET SX-0.10.

4.  FOR MORE INFORMATION ON THE DECK FLASHING PLATE SEE DETAIL 11/SX-5.10.

NOTES:
5. PROVIDE 1/4" GAP AROUND COLLAR TO PROVIDE FIELD FIT-UP TOLERANCE EXCEPT AT COLLAR CORNER TOP (CCT). THE BENT PLATE SHOULD HAVE A TOTAL OF 1/2" GAP AT CCT TO
ALLOW THE WELD TO THE SUPPORT ANGLE. 1. DO NOT ATTACH BENT PLATE TO NO ATTACHMENT ZONE OF MOMENT BEAM. FOR MORE INFORMATION ON NO ATTACHMENT ZONE SEE DETAIL 2/SX-4.10.
6. FOR EDGE OF SLAB BENT PLATE THICKNESS SEE DETAIL 8/SX-5.10. 2. DO NOT ATTACH BENT PLATE TO COLLAR FLANGE TOP (CFT). FOR MORE INFORMATION ON CFT SEE SHEET SX-0.10.

3. FOR MORE INFORMATION ON THE DECK FLASHING PLATE SEE 11/SX-5.10.

XL400 Rev12 detached.rvt

LLI
SCALE: SCALE: E
EDGE OF SLAB BENT PLATE @ XL400 MOMENT COLUMN - TYPICAL CONDITION =1 1 0 EDGE OF SLAB BENT PLATE @ XL400 MOMENT COLUMN - CORNER CONDITION R 2 <
2
MOMENT BEAM, WHERE GRID =
coL SLAB
1" COMPRESSIBLE @ OCCURS. RBS SHOWN, TYP. a m o SENT PLATE QL(KBAT O
MATERIAL @ CONCRETE COVER SX-5.10 w aa DGE LLI
CONC DECK OVER 1" 16 GA. DECK FLASHING PLATE | SIM w
| | TACK WELD @ EACH MOMENT COLUMN CORNER }‘ ‘ |
COMPRESSIBLE DECK FLASHING \ WHERE METAL DECK OCCURS ‘} 4X2X1/4 ALIGNMENT PLATE
~ OVERHANG VARIES } } MATERIAL o COLLAR i; CENTERED ON THE BENT @)
] 1'-3" MAX CORNER TOP \ CM|HSS16x16 OR ! PLATE HORZ. LEG, TYP. — m
| \H } } cn Blsoxieds H 4X2X1/4 ALIGNMENT PLATE 0.
| - u CENTERED ON THE BENT TVP. AT SLAB EDGEH
— i } } X COLUMN /20 BOLT (SHOP w PLATE VERT. LEG, TYP. \ 316 2-12 BEAMS
B e T 4 4 |
' | | S S INSTALLED) WITH SSH }} - - H\é
PR , \ .
/P( \ } } BB — _ IN BENT PLATE }\i L Gap SENT PLATE <2
. B e L olsael3 . TO COLUMN ‘
BEA'\FQ:HG 1/4" THICK BENT PLATE | | S = m‘%ﬂz s 14| /2 .
_ _ 4 1] _ _ _ _ _ _ ~ ™
i i i > CONCRETE FILL WHERE B B - s 1 1 | e - — \ | +
,,,,,,,,,,,, ] I L2X2X1/4 X 0'-2" SUPPORT ANGLE AT BN N
} } OCCURS. BENT PLATE ! = H X CORNER COLUMN. (2 LOCATIONS AT / o —F—L—C
| | SEE NOTES ON 5X-0.05 ‘ - EXTERIOR CORNER CONDITION)
| XL400 MOMENT COLLAR —
{ | | )
| | GRAVITY BEAM | SEE | 4X2X1/4 ALIGNMENT PLATE ‘ ‘
| | 4X2X1/4 ALIGNMENT PLATE SUPPOR  CENTERED ONTHE GAP /{ L
XL400 COLLAR } } \S’\ési/:/’:/'N NOTES: CENTERED ON THE BENT PLATE Coﬁﬂ\:\i klE gg c;,:"” j % )
HORZ. LEG, TYP. . o . P
| | | 1. DO NOT ATTACH DECK FLASHING PLATES TO NO ATTACHMENT ZONE OF MOMENT BEAM. FOR MORE INFORMATION ON NO AUG,I]K/TESI L/E-ATALIGNMENTK D o vert.” V4] 7 2 1/4" GAP ALL 3 | =
| | | ATTACHMENT ZONE SEE DETAIL 2/SX-4.10. ‘é)ézNﬁL/sE’gL'c)G,\'l\‘yHE:‘;ET\ILfE oate” 316 2 3 16‘ 2 LEG - AROUND COL. TYP. g | o
| | : O o
EDGE BEAM PER / | | 2. DO NOT ATTACH DECK FLASHING PLATES TO COLLAR FLANGE TOP (CFT). FOR MORE INFORMATION ON CFT SEE SHEET PLATE VERT. LEG, TYP. ALIGNMENT 3/16‘ , ;IK-TQT ALIGNMENT LéJ 2
$X-0.10, PLATE 3/16 ‘ 2 Z
CM|HsS16x16 OR NOTES: NOTES: . & & J
CB| BOX16x16 COLUMN 3. PROVIDE 1/4" GAP AROUND COLLAR TO PROVIDE FIELD FIT-UP TOLERANCE EXCEPT AT COLLAR CORNER TOP (CCT). THE ' ' p §
SECTION FLASHING PLATE SHOULD SIT TIGHT TO CCT AS POINT OF CONTACT FOR TACK WELD I FOR EDGE OF SLAB BENT PLATE THICKNESS SEE DETAILS 8 AND 19/SX-5.10. . FOREDGE OF SLAB BENT PLATE THICKNESS SEE DETAILS 8 AND 19/SX-5.10.
16A —— (/p)
TYPICAL DECK EDGE SECTION SCALE: 1 9 1= 10 DECK SUPPORT FLASHING PLATE @ XL400 MOMENT  |scALE: 1 1 EDGE OF SLAB BENT PLATE AT GRAVITY COLUMN - SCALE: 7 EDGE OF SLAB BENT PLATE AT GRAVITY COLUMN - SCALE: 3 ]
1|_0|| COLLAR 3/ = 1 '0 TYPICAL CON-D-III-QN 3/4“ - 1"0" CORNER CON DITION 3l4“ = 1'-0" Z
|—
GRID
() I
. OVERHANG VARIES } OVERHANG VARIES 0
BEAM, TYP. 1 SEE PLANS | SEE PLANS >
1" COMPRESSIBLE - o v 1/4" THICK BENT PLATE E
MATERIAL @ T T T T I e LR,
CONCRETE DECK [cM|Hss16x16 OR === === Lo e = ___ e O
[CBIBOX 16X16 COLUMN === l ] 1/4‘ LL]
| = o
| 2" MIN 3/8" THICK BENT PLATE | ) 1/4‘ QQ
R BEARING |
““““““ |\ 1/2"@ BOLT, TYP —
4 T | o <t
il SR / | \ >
_ B | ;{{31 4‘ . 7 _ _ _ % L3X3X1/4" BRACE @ 4'-0" O.C. “F.J x
I {1 A\ 16A ﬂ 1/4‘ N\ /
) Q17 PR B 1 | 1/4‘ (" )
AN W .‘
“““““ % ISSUE DATE: 05/01/2022
' "
“““ CONCRETE FILL WHERE OCCURS. = RIAXAXA(TYP) ROUECT NO.
SEE NOTES ON SX-0.05 | | EDGE BEAM PER PLAN -
| EDGE BEAM PER PLAN
SCALE: As indicated
XL400 MOMENT A DECK EDGE W/THICK BENT PLATE B DECK EDGE W/KICKER N y
COLLAR 1 1/2u - 11_0u 1 1/2" - 1!_0" ( \
GRAVITY BEAM ————————— SEE SHEET NO.
o
SX-5.10
SCALE: SCALE: .
COMPRESSIBLE MATERIAL @ XL400 MOMENT COLLAR = 10" 1 6 DECK EDGE SECTIONS - HIGH LOADS AND EXTENDED OVERHANGS 112" = 8 TEQ'JZ?Z?E"ZZ o
\k == 1|_0|| ) \ : :




XL400_Rev12_detached.rvt

7 S N\

¢ Hss
HORz G POST
ROOF SCREEN NOTES: 1 MAX,\ | \ ,
TYP. 2172 2172
1. WEEP HOLES FOR GALVANIZED PARTS TO BE PER STEEL FABRICATOR OPTION. TYP. TYP. T HSS HORIZONTAL I \
AT PER PLAN EA. COVY_ECH
2. ) 1/4" I NA I
LONG SLOTTED HOLE DIMENSIONS SHALL BE (d+1/16") X (2.5 X d) WHERE d IS THE BOLT DIAMETER. 5SS HORIZ. PER PLAN M'NX 1 OF 4 A307 THRU-BOLTS W/ ‘ } | } | SIDE OF POSTS DIRECTION OF WIND Sy Pester
STD WASHER; BOLT DIAMETER _— —H— o — LOAD ON ROOF SCREEN
3, ; - N
BASE PLATE DETAILS 3,10 AND 12 MAY BE USED WHERE THE WIND THE LOAD ON THE ROOF SCREEN IS PARALLEL TO 1 OF 4 A307 THRU-BOLTS W)/ STD o 10 BE DETERMINED BY EOR . B ) } T o 7‘T ) B B B
THE SPAN DIRECTION OF THE BEAM SUPPORTING THE POST. USE DETAILS 19 AND 20 INSTEAD WHERE THE WIND : , ¥ Z N
& WASHER; BOLT DIAMETER TO BE = G POST | | | 1
LOAD ON THE ROOF SCREEN IS PERPENDICULAR TO THE SPAN DIRECTION OF THE BEAM SUPPORTING THE POST. by DETERMINED BY EOR ——— | e —— CA Contractor's License No. 855525
\’\ ‘ ' 6600 Koll Center Parkway
: TYP. \ \ T.0. SCREEN X-9.1 Suite 210
4. TO ENSURE POST VERTICALITY DURING ERECTION, BEAMS SUPPORTING POSTS SHALL ADHERE TO THE FOLLOWING g W . n a“ meetan e & GAEHe
DEFLECTION CRITERIA WITHOUT THE USE OF CAMBER. WHERE CONCRETE-FILLED METAL DECK IS PRESENT, THE = q N o i 5
MAXIMUM BEAM DEFLECTION DURING CONCRETE PLACEMENT SHALL BE L/1080 FOR POSTS LOCATED IN THE o @) 2 | | W T510.264.9111
MIDDLE HALF OF THE BEAM SPAN AND L/1440 FOR POSTS LOCATED IN THE END QUARTERS OF THE BEAM SPAN. PR SN 8 ] % | | L oKt
WHERE BARE METAL DECK IS PRESENT, THE SAME DEFLECTION CRITERIA SHALL APPLY FOR 1.5X THE ROOF LIVE LOAD VP, s ‘ | T ALIGN € OF HSS HORIZ. W/ C OF FACE o — & 2 } | } ; ; ’ '
OR 25PSF, WHICHEVER IS GREATER. ] w . X ‘ X OF HSS POST. TYP. iy = mm | | ROOF SCREEN N
. g = - s $%-0.10'6X-0.108X-9.1 T BY OTHERS e ( )
e H2 H = - - ~ | | . HSS POST PER e i} F R 1 ]
‘ ‘ HSS POST PER/ | | N TOP P, THICKNESS TO BE SLAN BELOW A I (R ) B , _ _ |
PLAN BELOW L J J DETERM'NED BY EOR . 4\:\ 7 AA\A @ <, e - \; ‘ ‘ ‘ L jiﬁr - :4;7 N R E an “ ‘ ‘
OR —— HSS HORIZ. PER PLAN T |
% = = A (e I N O O s e 112 101 _ | \ \
Q 8 8 —+— ‘
- ~ - T h T\ HSS HORIZ. PER PLAN e - } ‘ }
EAM | | BEAM | o ' HSS W/ ‘ SIM. =
‘ i (4) LONG- SLOTTED HOLES | | 10 20 g o HSS POST
A< L/ 1080 A, <L/ 1440 HSS W/ PN H X-9.10'S%.9.1 2 B / PER PLAN
(4) LONG- SLOTTED HOLES ‘ = | | _ 8 BN
‘ \ Z S I
VARIES ! / | | Q& BN
Y | HSS HORIZ. PER PLAN OB ] PROFESSIONAL SEAL:
™o, | Z o - :
o ‘ | ,—1/4"TYP. |NOTE: SEE DETAIL ﬂ &= .
g 2 | r A
— HSS HL)RIZ. 0 R, THICKNESS TO BE i o
Y, ¢ o REVISIONS:
FOR INFO NOT SHOWN W* - WELD SIZE TO BE DETERMINED BY EOR DETERMINED BY EOR =) ||
W* - WELD SIZE TO BE DETERMINED BY EOR s D
z o | _ ,
ROOF SCREEN TOP PLATE SKEWED CONDITION TYPE |scaLe: ROOF SCREEN TOP PLATE CORNER CONDITION - SCALE: SCALE: 25 e "o T peeRen
ROOF SCREEN NOTES "o Ar AN W Ar AN ROOF SCREEN - SECTION " Ar an = | | 4 08082019  SDR 039, 041 & 042
1 - PLAN DETAIL 3"=1-0 PLAN DETAIL 3"=1-0 1"=1-0 = | T ooz SOR047
<<
NOTE: IF THE ROOF SCREEN WIND LOAD IS PERPENDICULAR TO THE BEAM SPAN, THEN USE DETAILS 19 & 20 ON THIS SHEET = an " o SoRO®
ah §
€ HSS 1, INSTEAD OF THIS DETAIL. ‘
j Riz. DIRECTION OF WIND x9.10 I | 4%%
G‘/’;’gE LOAD ON ROOF SCREEN T o
B B
HSS HORIZ. PER PLAN HSS POST PER PLAN — HSS HORIZONTAL PER PLAN, EA. T —
TYP. ~ SIDE OF POSTS
W/ (4) LONG-SLOTTED ANGLE TO W* [ ]
HOLES, TYP. 1 OF 4 A307 THRU-BOLTS W/ STD [ HSSHORIZ PER PLAN FLANGE, TYP. ¢ POST } ‘ }
POST " ‘ (3/16)
o ¢ 1T|\%\x. WASHER; BOLT DIAMETER TO BE 1 OF 4 A307 THRU-BOLTS W/ STD (PJP) | | BASE R, THICKNESS TO BE Ol
- ,4 . DETERMINED BY EOR < i — \ DETERMINED BY EOR | ] 10 20 \SIMm.
S & WASHER; BOLT DIAMETER TO BE A325 BOLTS. TYP. UNO BOLT | |
F—— — F—— 4 — — — hy DETERMINED BY EOR AME- | | ] %&9'1 X-9.1 \- J
s f N QTY AND DIAMETER TO BE | | | L
' DETERMINED BY EOR | | DECKING PERPENDICULAR , ‘ Ol - N
- R N \ | _ _ _ R S I DR | ‘ | 2" MIN. TO BEAM WHERE OCCURS < | | 2 ile
2 ' S | ' / . TOP P, THICKNESS TO BE \E ||/f~ BEARING z M1 |
A \ \ ‘ i DETERMINED BY EOR T gt ﬁj Eﬁj vl T g! & \ \
S - - i - - - 117 - % —_— I rde———— — ‘ a X-9.10'8x-9.10] | |
= < | ) TON/TD | . PROVIDE ANGLE @ BASE
- 10)) }f - - - B } BN () P . — TYP ] | L — | = S'Mﬁmm } } PLATE WHERE DECKING IS
| W L | ALIGN € OF HSS HORIZ. W/|C OF FACE PROVIDE L4X4X1/4, WHERE DECKING IS 105X 1050 1 | PERPENDICULAR TO BEAM
A N N OF HSS POST. TYP PERPENDICULAR TO BEAM, - - U | |
—————— e 7 P | ] o 3/16‘ MIN. DECK BEARING = 2", | L
/ / | ) | Ay LENGTH OF ANGLE = BASE R LENGTH e NOTE: FINAL HSS POSTS, HSS
212" 212" HSS POST PER ‘ ( v \ ( Y \ ; { Y \ ( v ‘f f HORIZONTAL MEMBER SIZES AND
CONNECTIONP. PLAN BELOW T T T _\I gl g, CONNECTIONS WILL BE —
SEALWELD.  w»* TYP. TYP. THICKNESS TO BE /Y | DETERMINED BY EOR —
ENDS OF R, DETERMINED BY EOR : 1 '
A ' HSS HORIZ. PER PLAN 3 SIDES TYP. [
VP, ‘ HSS POST PER PLAN TYP. 5/16‘ W BEAM PER PLAN
HSS W/
(4) LONG- SLOTTED HOLES /8" STIFFENER P
E.S. ALIGN W/ CENTER
SIM. ] OF HSS POST
NOTE: SEE DETAI a y
sxon >
‘ <5 POR- FOR INFO NOT SHOWN \ |
(s BEAM SEE PLAN
W* - WELD SIZE TO BE DETERMINED BY EOR W* - WELD SIZE TO BE DETERMINED BY EOR TP W* - WELD SIZE TO BE DETERMINED BY EOR — LLl
SCALE: ROOF SCREEN TOP PLATE SKEWED CONDITION TYPE |scaLe: SCALE: SCALE: SCALE: =
HSS CONNECTION TO POST DETAIL - PLAN R R ROOF SCREEN POST - W BEAM CONNECTION 11/2" = ROOF SCREEN - SECTION =1 ROOF SCREEN-BASE DESIGN 4= 1" <
3"=1-0 2 - PLAN DETAIL 3"=10 1" =10 314" =10 >
DIRECTION OF WIND
WIND LOAD ON ROOF bOST & BM NOTE: THE HOLE IN BASE PLATE SHALL FOLLOW THE CONTOUR OF THE HSS POST, INCLUDING THE ROUNDED CORNERS. GRID GRID GRID GRID LOAD ON ROOF SCREEN
SCREEN IN ANY DIRECTION ¢ — _— QO
GAGE — GRID TO GRID GRID TO GRID GRID TO GRID GRID TO GRID
A I I I
N i C;T.O. SCREEN | | R -
‘ ‘ ‘ W BEAM — - W N !— | 10F 4A325 TC O
SEE PLAN N N & i L i n BOLTS; BOLT
| \ m
| | | | | Ll ; . DIAMETER TO BE
| | i 1 i i u Rl B DETERMINED BY EOR o
: | | . g : _
=2 ‘ 10F 6 A325 TC BOLTS; 1 n n N HSS POST PER PLAN, TYP N =
- BOLT DIAMETER TO BE n n N 0 | =
Il DETERMINED BY EOR ROOF SCREEN z i | HSS HORIZONTAL PER PLAN, EA. | |, | i -
- | Z W BEAM i | \
= | SEE PLAN = | i i i H 1 e
] e PP 45IPES = | i ) i L |
7777777 ——— t- ! = |
w >
] % 7 = N ! 1] n n 7 Sz — - ffA#thfﬂffffff;f% =
| 2 |1 |1 aln n il Qo9 5= S e i i B
H ] — - ] N — R — P P — L — Jj T — I
|| | S I A A, S I P ™ ./ 1‘1 S L 1 oo N N N - - @ B - —7 -
L L Il
e %1124 e e o HS5 WIDTH + NOTE: PJP WELD 4 FLAT n n ‘ n ‘ n &HJ f 4 j
© TT o ‘ SIDES. USE 3/16" FILLET n M L \‘\ ; ; o A | . N
B 4 | B - \ WELD AT ROUNDED n ROOF SLOPE S N \ Z e W BEAM
\ \ CORNERS TO SEAL THE ] | n | | | | | | | = SEE PLAN '
| - CAP R; SEE DETAIL 4,9, 13 OR 14 MOMENT COLUMN | COLUMN. IR e ] e e e————— ‘ — — SN I N n y 2 @ g
|| 4+ — ’ T I \ t % - ——T— ' = —— - = i - = S BASE P, THICKNESS TO BE i =
z ) / 3/8" STIFFENER(P (IF REQD BY ‘ i i i | | 5 PR AR 5 z
= Y EOR), EA. SIDE; SEE 20/5X-9.10 ‘ ‘ | | | < Z
o | |
= 112" [ 1172" 2" | | oAl s 5l ROOF FRAMING, TYP. 6 VELD IN LIEU HSS POST PER PLAN O L
= | ‘ i SEE PLAN ,,EJ 0 S <
TYP. TYP. MIN. NOTE A | | A . 1| 5l OF BOLT W*‘ b 1/2" S Z
' | | HSS POST SLEEVES W EOR), EA SIDE; ALIGN W/ N -
DETERMINED BY EOR : ;
NOTE: LOCATE POSTS ALONG PRIMARY BUILDING GRID LINES WHEREVER POSSIBLE.
< POS 6"X6" COVER R (GALV'D; SHIP | | THROUGH THE HOLE | CENTER OF HSS POST " )
HSS POST PER PLAN LOOSE): PLATE THICK. TO MATCH | | " IN THE BASE . i } W* - WELD SIZE TO BE DETERMINED BY EOR
POST WALL THICK. (MIN. 1/4") \ | _~—— 5"DIA HOLE FOR ‘
SCALE: ‘ CONCRETE o 1\ SCALE: SCALE: @
ROOF SCREEN BASE PLATE DETAIL - OPTION 3 3= 1" | _ I ROOF SCREEN-PARTIAL ELEVATION 318" = 10" ROOF SCREEN BASE PLATE DETAIL - OPTION 1 3= 1" -
- - N - - - -
| = g%‘ﬁ _1
NOTE: WIND LOAD ON ROOF SCREEN MAY BE IN ANY DIRECTION. % ‘ | HSS POST PER PLAN 18 GAEET ALC SEALWELD TOP P, THICKNESS TO BE DETERMINED BY EOR = |
LLIAIL W* N _ " ,
< | /‘ DIRECTION OF WIND W HSS POST PER PLAN ENDS OF R, G POST 1" MAX. S5 PER PLAN - WIDTH = b+1/2" OR AS REQ'D BY AWS TO w
e - = | ‘ LOAD ON ROOF SCREEN r W*‘ | TYP. HORIZONTAL EA. ACCOMODATE WELD SIZE
GAGE o ‘ ‘ — - : SIDE OF POSTS W/ LLI 0
= | | “ 1 OF 8 A325 TC BOLTS, | ' | 4 SLOTTED HOLES G POST 212" 212"
HSS POST PER PLAN MIN. BASE R THICKNESS TO BE z | | LUGS TO BE REMOVED AFTER WELDING IS 1172 BOLT DIAMETER TO BE HSS PER PLAN 1" MAX. w1 Ty m 06
G POST & B DETERMINED BY EOR i | | . MIN. DETERMINED BY EOR HORIZONTAL EA. SIDE m | | (TYP)p) ' ' Q
| 3 | | COMPLETE Z OF POSTS W/ 4 | | 212 212 (T11 O
1 OF 6 A325 TC BOLTS; ‘ N ‘ L | | = X-9.1 | | 2t 21 I . — ) ‘ — N (/p)
; \ \ (e} DETAILC ———— 1/4" P. TYP. 2 Q POST 11/2" W BEAM SLOTTED HOLES — @ >~~~ (v ¢ 111Vt 1" " %=~ 1 +«v» 14 ® v 1 0 0 ) T ‘ \ r ey ]
‘ \ ‘ 8 \ \ /4" B, TYP. TYP. v Z
BOLT DIAMETER TO BE o) [/ N DECKING & 5 | | = MIN SEE PLAN | | | | | |1
DETERMINED BY EOR 1 | /' BEARING /  PERPENDICULARTO < | | .. T g \ | | m % i | | i LL @)
MIN. | %LB BEAM WHERE OCCURS 3/4" A325-N, TYP. TN T T o |
m /1 / 1/4 | | i : — | | —— © | | | | —
| T 4- SIDES; SEAL | | 1/4" B, TYP. i - -~ e R 1 | R e > | | | | ®) -
=T T WELD | | | 1 - B B T < | | | | % a | | . <
- =¥ CORNERS \ \ et 1 = et %} | | m
m Te R 2"x16"x16 B = o |1 | | | 2 | | >
‘ E iﬂm \ \\ | \ 5 =z Qj**j\**j*\*ff ’i*4£**t7z/**ﬁ**j\**ﬁ** —~ = = ‘ ‘ | | ‘ ‘ “‘ | | “‘
W X-4.1 x4 | | | REFER TO DETAIL 10/5X-9.10 FOR 1/4 A | ] 2 s S e e o e — = o > | S [ O I S S || L 11
_ P [ R - T
I i e Ax T O A = i S IR 7 IR —
j ‘ — . — - = SR SIM. I
e b JIY S s T - 1l | | i (18 ; x ) L
‘ | S e e L . T j ———————— e ——— | | F — e — — — — — X-9.1 | | 21/2" 1
Hljo i A o TOS. 4 L S s A T L o L _ ' i = ] A307 THRU-BOLT, TYP. =
| A T TIT[ = = N = = = < B % 7 — ‘ ‘ | | BOLT DIAMETER TO BE | | . \ Y,
Y Z DETERMINED BY EOR
! 3/8" STIFFENER R (IF REQD BY g 1] d ] AT = =S BASE P, THICKNESS TO BE | | | | ( A
| EORY); SEE DETAIL 10/5X-9.10 FOR } } = DETERMINED BY EOR A307 THRU-BOLT, TYP. | | | | CONNECTION P, THICKNESS TO BE ISSUE DATE: 05/01/2022
z Ak WELDING REQUIREMENTS ] - BOLT DIAMETER TO BE | | SEALWELD.  w+ | | DETERMINED BY EOR, TYP.
=
: DETERMINED BY EOR ENDS OF P,
BEAM WEB Q P gj } } | | YP w* | | PROJECT NO.: -
ANGLE, ES. = — ) 5 3/8" STIFFENER|P (IF REQD | | CONNECTION PP, THICKNESS TO BE : | |
% ; N BY EOR), EA. SIDE; ALIGN W/ | | DETERMINED BY EOR, TYP. | |
3/4" @ A325 TC SHOP 2 | \ 1 WELD 2 SIDES OF CENTER OF HSS POST | | ‘ | SCALE: As indicated
W BEAM, SEE PLAN, TYP. q \@ @@\ p BASE P IN LIEU OF | mmm _
BOLT @ EA. WEB ANGLE - . " | | NOTE: SEE DETAILS | | L y
d ‘@ @} b ‘ ‘ ‘ HSS POST PER PLAN FOR CORNER AND SKEWED COND|T|ONS (SHEET NO )
R e | NOTE: b IS THE HSS POST DIMENSION INTO '
NOTE A: THE PAGE.
W* - WELD SIZE TO BE DETERMINED BY EOR W* - WELD SIZE TO BE DETERMINED BY EOR WELD SIZE FOR COVER P SHALL BE 3/16" OR MIN. W* - WELD SIZE TO BE DETERMINED BY EOR W? - WELD SIZE TO BE DETERMINED BY EOR W* - WELD SIZE TO BE DETERMINED BY EOR SX 9 1 O
REQ'D BY AWS, WHICHEVER IS GREATER.
ROOF SCREEN BASE PLATE ELEVATION DETAIL - SCALE: POST CONNECTION TO CONXL MOMENT COLUMN AT | scate: SCALE! ROOF SCREEN DETAIL - HSS HORIZONTAL CONN. TO [scate: SCALE! e O
2= . ROOF SCREEN BASE PLATE DETAIL - OPTION 2 . . TOP OF ROOF SCREEN DETAIL . -
OPTION 3 10" ROOF 1"=1"0 3"=1-0 POST 3"=1-0 3"=1-0 ) \ 11672025 2:15:29 PM

S




XL400_Rev12_detached.rvt

7

N

N
34 1 120 2172 R 3/8"X5"X0'"-6" ES. V12 JGAGE  £11/2"
L4x4x3/8 ES. W/ \ ,
m (1) 3/4"@ A307 ALL-THREAD SAD. I @,
" $X-0.20 W/ NUT & WASHER TO HSS | ‘ | H N\
z A T 11/ 2 ‘ ‘ w w ROOF | v — a1°
. S B AR I S N e ii CONXTECH
Y i i (2)3/4"0 A325N BOLTS i | i 15 o2 f
i | _ i i TO BEAM FLANGE,TYP. i | i ! Lg | | gj ] H
} @ | } } | ‘ | i ) ‘ ‘ I g H CA Contractor's License No. 8656525
— - )3 - 1 Y ‘} }‘ & & i PERIMETER Il 6600 Koll Center qukway
B A B 8 %?’iiifﬁf% DIVIDER W BEAM . o ! | I B T BEAM i Fisacarton, CASHS88
. ‘ = v a et I LT o e ~ f— Za I I
| HSS HORIZONTAL W/ (2) 3/4" @ A325 w© = 3/8" STIFFENER P, N.S. & F.S Y | n i N\ / i 10102649111
1/4‘ ERECTION BOLTS HO/REZ) ?3/16"x1" | — A/LIGN W/ C OF HssSLJ/' | | i | i 0 i A : i AL el
1 /4‘ TP GLIORT-SLOTTED HOLES IN HsS / . i i W H N . . / H
| | Il Il
| I I Il I
g | u N 4 :: ( \
AEN [ 3 3 SIDES TYP ] | \ N / ) i
* - | H |
xey @ ) | 3116 A | | . / OPENING |
e =, £ PSS | ii A |
e - Il Il
] ° I T I e | SN !
R 3/8'X5"x0"-6" ELS. > | | L § | @ 1 ] i : A H
OF HSS ——— i It ~ A J = o I / N\ i
2 , | | HSS T&B L —— f : h i
€ ) | | OF W BEAM . BB | / N |
- oy | i W/ (1)3/4"@ x A307 ALL-THREAD W/ | | . i // \\ i
\ \ DOUBLE NUT & WASHER & 13/16"x1 7/8" ‘ | ‘ ! ! I I PROFESSIONAL SEAL:
B.S. OF HSS N N N | | VERTICAL SLOTTED HOLE AT TOP OF HSS 1 1 / ] RO FLOOR i H N J
1/4‘ o ONLY 3 LA *%”__‘ﬁ% e i H g \
DETA”— — ‘ oA & ETA”— F Y = B | . — e Q H s DIVIDER BEAM H REVISIONS:
3"=1-0" 11/2" = 10" ‘ ; & ‘ o i V4 . i
HSS HORIZONTAL - EMBED CONNECTION DETAIL SCALE SCALE S L | —— E L N
@ |scue |43 |ELEVATOR GUIDERAIL SUPPORT @ DIVIDERBEAM |5 | Q || \ = | | | R ——
ELEVATOR PIT 3"=1-0 10" ‘ ‘ o HSS DIVIDER | %::::::::::::::::::::::: - ::::::::::::::::::::::::% |
L L a0 o BEAM WHERE ans I I ] [ | 7
¥ VARIES | 2" -~ W o OCCURS i < v " Tsxos
P gR R oR 13/16" @ o L I N / H U
3 14" 1 : : 11/4" o I N f
A — | ] f g=35"g=55" D L SIZE \Q ] i H
o ‘ = I 26k | 4k | 54k [UPTO8" | L4xdx \b VARIES e i i
i \ i \ o i} 26k | 3k | 44k 8l-11" Laxdd 11/4" i i H AN / H
| — N /
o o /3 I 26k | 26k | 37k | 111"-14" Laxdx BL WASHER DETAIL 1 HSS6x6 T&B f . / |
| Jﬁ | q R & S i / OF W BEAM, TYP, i N ) i
—— T | S L :: \ / :: N J
: TN/ | HSS6x6 5/16"MIN. THICKNESS X-9.2 g SIM o | \ / | - N
" ol CONTINUOUS s | N / |
L | DISCONTINUOUS GUIDERAIL —— { _ OPENING i
! SUPPORT H / H
i 34" @ A307ALL-THREAD\ P, 7 | |
Il Il
STIFFENERP | 3/16‘ \éVl\/lLl]l(L;J'I{_%\I{'V_lASHER ’ 13/16" @ BY 1 1/2" W 2ND FLOOR i i
Bs. 3116 . LONG SLOTS IN o AMING i i
fos P, L4x4x3/8 (Typ.) . ‘ _ I i
_ T K"/ i O ‘ i ! l
1/4‘ 3 SIDES o x PL 3/8"x2 |12 ‘ g/ : H H
s * A s | T , cox u ii
| I I
LI L w I I
S:) — — == == = :ii;:::::% E— ;:'/ $J == H H
Il Il
me A T | o
= \ = N I I
A AN = =\ weaug u 1
| \‘ ~ 1 1/2"\ Il I
| @ i SEE DETAIL W w PERIMETER OF H H
| ] ' ' " " ELEVATOR SHAFT i !
| ; FOR BALANCE OF INFORMATION 2112 L4x4x3/8 i B e
| | ——(2)3/4"3 A325 TC I H
| | BOLTS SC (Typ.) [ — j "
DISCONTINUOUS GUIDERAIL SUPPORT CONNECTION SCALE: 1 4 ELEVATOR GUIDERAIL SUPPORT CONNECTION @ SCALE: 1 O SXL9-ELEV-001 ELEVATOR PLAN VIEW SCALE: 2 =
@ PERIMETER BEAM (ALTERNATE DESIGN) ror PERIMETER - PLAN VIEW e 3/4" =1'-0" §
VARIES VARIES W -
| GROUND O
ZTG'\Q | | R g
| ; o D = L
| ‘ RS 7’:7771 77777777777777777 q L R -
& i | o - 1. @)
s | A B B >
T bl s L4x4x3/8 ES. ) - R
N 1 I e (2) 3/4"0 A325N e HSSEAE 2 0
. | @jg.}w S | | BOLTS TYP., SNUG Neen] 4 STUBXPOST N
o I | D= NS = i | TIGHT @ EA. L4x4 SR R
\ - LU VLLJ_J Qj ! ‘ ! — % T 7—5,/4;'—\ \q:\'AiA; Z /A‘?\ - Z
= | | I R N PL 3/8"2x e Al
N o | ) 1/s|z|5 VARIES IR e
i H ,A ,A - | T I‘ﬁA/ A Z )4 q qA
& | | Bz e W BEAM @ N 0
~ i i / PERIMETER OF St : S
| | | ELEVATOR SHAFT c el W U
HSS6x6 | | T | G
CONTINUOUS | | 3/8" STIFFENERP L T T SSSE e I P
W/ (1) 3/4"@ A307 ALL-THREAD i i / @ L4x4. ALIGN W/ L4x4 - <‘A 5 q e q = A /:, o " " ::'/
W/ DOUBLE NUT & WASHER. | | VERT. LEG [ e T e e ol . A AP
13/16"x1 7/8" VERTICAL SLOTTED | | 5 R - e, SRR
HOLE IN HSS i i - J % i
[ \ L D
\ w, | | X =
Z /\w:% D | | [ 316, 2| 5
s SEE DETAIL & m | | 3 SIDES = —
| X510 sx0.10 | | 316, 5| 4
| ‘ FOR BALANCE OF INFORMATION | | 3 z
| 1 ‘ ‘ N x i
\ \ 1 1 r 9 o o)
| |
| 1 | - \
| |
DISCONTINUOUS GUIDERAIL SUPPORT CONNECTION SCALE: 1 5 CONTINUOUS GUIDE RAIL SUPPORT CONNECTION @ SCALE: 1 1 ELEVATOR GUIDERAIL SUPPORT @ DIVIDER BEAMS SCALE: 7 —_
@ PERIMETER BEAM o PERIMETER BEAM - SECTION o 3/4" = 10" Y o
0OZ
S a O
G——>0 — o E o
é o : < J
‘ A ‘ w > —
| | S ) <
L ~ LT T | —
} } L4xx3/8 ES. W/ T (@) - LLl
21/2" | | (1) 3/4'3 A307 ALL-THREAD W/ NUT 2 6" 2 BEAM WEB ANGLES - L 0
TYP. } | 8 WASHER. EA. LEG (NO SLOTTED SEE 1/5X-4.20 FOR INFO NOT SHOWN < -
| | HOLES) A 10° 2z
C | | | | HSS 6x6 STUB > <
Q 1 » X
S | | | POST PLAN LL
S | | GROUND FLOOR | / PLAN 11/2" = 1-0" — ~
,,,,,,,,,,,,,, e T N 0 — . 1172 = 10" r ) o
| | OPTION TO FIELD
i | i EMBED P 10"x10"x3/4" THK,, GR. 36 ) V2 3/16‘ WELDB.S. i
,,,,,,,,,,,,,,, | L I | | W/ (4)3/4"@x0'-4" CONCRETE ] =
[ — [ \ || Anchors N B VA © ToS g G )
= T ™ | | : — r ~N
e - 7 HSS6x6 HORIZ. | | X-9.2
g i "T*j} o ALIGN W/ GROUND LEVEL 1/4‘ i ‘ i U @’ I ] 'SSUE DATE: 05/01/2022
HSS6x6 T&B ¢ 1! | | | ™
OF HSS HORIZ, 1\\& san | & PROJECT NO:
W/ (1) 3/4"@ A307 ALL-THREAD W/ } \ } L6x4x3/8 LLV W ‘ 1 I 1 e .
DOUBLE NUT & WASHER. 13/16'x1 || | ALIGN SLOTTED HOLE IN HSS W/ CENTER OF ANGLE AN (4)3/4"@ A325 \ X
7/8" VERTICAL SLOTTED HOLE AT | | HOLE | | TO FLEVATORPIT 42 SHOP BOLTS HSS - SCALE:  As indicated
TOP OF HSS POST.D . ) TT - | Y,
< ) | < T (2)3/4"@ A307 - ~N
= < Pree ALL-THREAD W/ NUT SHEET NO.
4 a o W BEAM & WASHER SX 9 20
ELEVATOR GUIDERAIL SUPPORT @ DIVIDER HSS SCALE: GUIDERAIL - STUB POST CONNECTION @ ELEVATOR  |scaLE: SCALE:
@ e |12 @ A% | 8 |ELEVATOR GUIDERAIL SUPPORT DETAIL | 4 | [renreoon
HORIZONTAL 10" PIT 1"=1-0 10" ) (1612025 2:15:33 P




	Sheets
	SX-0.01 - COVER SHEET
	SX-0.02 - XL400™ DESIGN CRITERIA / LOAD MAP
	SX-0.03 - XL400 ABBREVIATIONS & NOMENCLATURES
	SX-0.04 - XL400 GENERAL NOTES & SPECIFICATIONS
	SX-0.05 - XL400™ MATERIAL SPECIFICATIONS
	SX-0.09 - XL400™ NOTES AND NOMENCLATURE
	SX-0.10 - XL400™ COLLAR DETAILS
	SX-3.10 - XL400 MOMENT COLUMN DETAILS
	SX-3.20 - XL400 GRAVITY COLUMN DETAILS
	SX-3.30 - XL400  BASE PLATE & FOUNDATION DETAILS
	SX-3.31 - XL400  BASE PLATE & FOUNDATION DETAILS
	SX-3.32 - XL400 OSHPD BASE PLATE & FOUNDATION DETAILS
	SX-4.10 - XL400 MOMENT BEAM DETAILS
	SX-4.20 - XL400 DROP-IN GRAVITY BEAM DETAILS
	SX-4.21 - XL400 CONVENTIONAL GRAVITY BEAM DETAILS
	SX-4.22 - XL400 COLLAR CONNECTION DETAILS
	SX-4.23 - XL400 CANTILEVER DETAILS
	SX-5.10 - XL400 DECKING DETAILS
	SX-9.10 - ROOF SCREEN ELEVATIONS & DETAILS
	SX-9.20 - ELEVATOR SUPPORT PLAN, ELEVATION & DETAILS


